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Topic:- Child Development & Pedagogy (CDP)

1) The two main motivation categories of needs are ./ SMagHal B & &I WP Aford
gl

1. reward based and fear-based /Eﬁ?\“ﬂ%ﬁ ST 3R T 3nemia

2. intrinsic and reward based / 3fidiN® @T@T\‘ﬂ%‘[ SR

3. intrinsic and extrinsic / 3{dk® G?REHEI

4, extrinsic and fear-based /E’I?f[ 3R YT 3nyTfea

Correct Answer :-

« intrinsic and extrinsic / 3ffdR® aﬁ?a@

stage is termed as ‘Questioning Age’ as well as ‘Gang Age’. / SARIT P

'awﬁnﬁvrr & 1YY A7 U o peTSEr 2l
1. Adolescence / fHRIR

2. Adulthood / g¥H

3. Early Childhood / WRTRYS S0

4, Later Childhood / UY d<U-

Correct Answer :-

« Later Childhood / UY §dJU

3) Applied behavior analysis (ABA) is used to help children with which of the following
conditions? / ST TAER fazawor (T.41.8.) &1 U a=di ot fFafofaa o 3 fea fRAfa &
GG P P fog fpan s 82

1. Attentional deficit disorder / &IMTHId fa®R (W fSfthRie %ﬂ\ﬁ_&f?)
2. Dyslexia / )Ue- T o (FewifaRya)
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3. Autism / A (3fifeeH)
4. Dyspraxia / TfaaH-ag dded (Feamifaan

Correct Answer :-

. Autism / T (3ifew)

4) Mnemonics is a technique. / Fﬂﬁ' ﬁ?l'Fl' B dBD %l
1. Reading / UTS-
2. Writing / SECR|

3. Evaluating / Jcdih
4, Memorizing / dl¢ X[

Correct Answer :-

« Memorizing / Il XGAT

5) What is the term used by Vygotsky to describe the type of role that parents and teachers have in a

child’s development? / T T & a1 A Aar-firam 3k Rigeid $t YfUHT BT quF H31 & g
NS gRT fFT UG BT IUTNT 6T 711 32

1. Scissoring /@aianT (Rse)
2. Scaffolding / JTATRTG TETIAT (FBWHITET)
3. Lecturing / SIRSHATT

4. Teaching / TRI&0T

Correct Answer :-

« Scaffolding / FTHISH TETIT (Kb

6) What is the term used to describe the typical, highly representational example of a particular

concept? / fHl faRiv sraeRon & ARy, 3= fAReuur ardt Ierevur &1 quiF H1 & foe [P ug &1
I fpan Siar 82

1. Heuristic / GHH'F-ﬁ

2. Symbol / Fd

3. Prototype / Uiciersy
4, Premise / URIR (Cﬂﬁlﬂ)

Correct Answer :~-
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+ Prototype / Yieiersy

7) What type of questions would likely measure abstract reasoning in an intelligence test? / Tch

gfaw Temr § f6d TR & Uil b 3Ryd acb P AT DY U 82
1. Comprehension / SY

2. Matrix reasoning / ﬁﬁjﬂ{ GEZ

3. Synonyms | T ee;

4. Similarities / FHFAY

Correct Answer :-

« Similarities / FHT

8) What are tests that taken into account the environment in which a child learns called? /

VI HIF | T80T § Sl 39 ATeId &1 T A @ & o U a1 IR/ e g2
1. Accuracy tests / URRIGdT URT&UT

2. Power tests / &HdT URI&0T

3. Culture fair tests / TG Tcl TEI&f TRI&1

4, Speed tests / 7Tl TRI&OT

Correct Answer :-

« Culture fair tests / S¥pTdl [8g&f UR1&m

9) What from the following options constitute language and thought together?/ Fafaea e d
HTYT 3R foaR T w1y &1 997d 87

1. Spatial thinking/ RTA® fiid
2. Logical thinking/ CZACGE

3. Visual thinking/ T fic=

4. Verbal thinking/ Aifge fefae

Correct Answer ;-

o Verbal thinking/ MR feiam

10) To do well as a financier, one should have: / Th Wﬁﬁﬂ? P U H AT HHA P ﬁ'm, fedt &
I g1 18 ¢:

1. Musical intelligence/ S §@
2. Kinesthetic intelligence/ HIGRRED Tg’@ @Bﬁ'@% séﬁ’laﬂ)
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3. Spatial intelligence / faRy §@ (\fﬁﬁqﬁ 3%[%’1@1?)
4. Logical intelligence/ GlIEEED §@

Correct Answer :-

« Logical intelligence/ GIIEZED §@

11) An investigator doing laboratory experiments and gathering data comes under: / Tch YD

TRIRTRITET ® YT % a1 Th3d Sl & 98 frads siarfa aimar 82
1. primary data/ i e Gm

2. final data/ 3ifcTq m

3. tertiary data/ Q?ﬂw i

4. secondary data/ T Gﬁﬁ

Correct Answer :-

 primary data/ e 31\'%

12) Human development is a process. / HIFd e T® BIERIC]
1. Sporadic / 3TARRYT (WARTSH)

2. Random / TTEfase (38H)

3. Cumulative / Tet (@Iﬂ@ﬁ?ﬂ
4, Intermittent / GG (EET&I%E')

Correct Answer :-

« Cumulative /St (aqaéﬁa)

13) Which of the following is NOT the benefit of active learning? / Frafafaa # @ H19-ar afea
STERTH HT ATH 781 82

1. Develops Collaborative skills / TEUNTIHD DHIE fAB I BT

2. Home work / ﬂ_s'-a'ﬂ'{f (—Eﬂq EI$)
3. Improves critical thinking / TAAIHS Iid DI IgaR T

4. Encourages risk taking / NRIH T I Ao d HeeAm

Correct Answer :-

o Home work / QE—W (T:ﬂ'q EI%)

Page- 4



Which of the following is not an aspect of learning? / Frafeatad d§ 9 S19-a1 it &1 Udh Ug]
TRl 82

1. Biological preprogramming / e TR

2. Permanence / {1

3. Behavioural change / ddgRR BIRCRE]

4. Experience / 3{JHd

Correct Answer :-

+ Biological preprogramming / e it

15) In order to avoid punishment, it is always better to obey the rules. This kind of acceptance is seen
in which of the following stages of moral development? / TSI ¥ T+ & forQ, faH} &1 ure= 31 g0=M
dgR ghar g1 Fafafaa # 3 fra wor A Afoe e g9 wiefa o Sarwmars?

1. Postconventional morality/ URd IRUR Afddwdr

2. Transcendental morality/ IR Afdddr @F\ﬁéﬁ ﬁR‘Iﬁ']‘cﬁ)
3. Conventional morality/ TRUR® Afadar

4. Preconventional morality / Uj URUTRe e

Correct Answer :-

+ Preconventional morality / U:q: URUN Afaddr

16) If a child loses weight rapidly and does not seem to eat throughout the day, what disorder might
s/he be diagnosed with? / Tfc; forell T2 FT Aol A Il B §1 ¥6T 8 SR a1 WX oo 715t Wrar g,
1 ST HI-9T1 [TBR T oI HHaT 52

1. Obesity / HIeTdT

2. Anorexia nervosa / TAIRfGRTAT afer
3. Tic disorder / f¢® fabR

4. Tnsomnia / 31f1&T

Correct Answer :-

e Anorexia nervosa/ Eﬂﬁ‘@:ﬂ:ﬂ aarar

17) A Neo-Freudian, whose ideas on child development had a major influence, was / TP -4d-

ey, AP gRT a1d e W fou U faam) &1 ve g1 uvE o1, 9 I
1. Erik Erikson / T TRaTH
2. Jean Piaget / i fOaT!

Page- 5



3. Carl Rogers / &Ta o
4. Carl Jung / &Tai g1

Correct Answer :-

o Erik Erikson / TR EﬁEFxEF[

18) Who first used the term “Self-actualization” to describe completion and unity?/ %\‘ﬁ‘{lﬂ?ﬁ 3R
Tl BT quiH B3 & g Ta vga oire RifS <reg &1 waikT fopam am?

1. Alfred Adler/ 3PS TSR

2. Abraham Harold Maslow/ 3{sTgH gRIes HIel
3. Karen Horney/ P B}l’:ﬁ

4. Carl Jung/ W@T

Correct Answer :-
o Abraham Harold Maslow/ 3{sllgH %ﬂ@’m

19) The term SLD in children’s mental health denotes for: / =} & ATRIP TR ﬁE’\‘I’ET'I'S‘] Qo PT
ardf %:

1. Self- Learning Direction. / Heh—afHT SRR

2. Special Learning Direction / T4 T SERERM

3. Specific Learning Disorder / Wiifthes af- fegaiisr

4. Symptoms of Learning Disorder. / ey 3ffts @ fegaiis

Correct Answer :-

« Specific Learning Disorder / WiYyftre aff fegaiies

20) The perception of a situation as a ‘whole’ gives a better understanding than the sum total of its
parts and makes the occurrence of insight possible. Which learning has this as its basis? / ’ﬂ"q:Uf’ ¥

0 A e R FT 4o 3= vt & @it 70 dgar wue At | o Siaefy &) e &) Gyd S g
ST &1 {5 fIUT ) SHBT AMTYR AT ST 82

1. Trial and Error Learning / G1&0T 3R _aj% T
2. Learning by Insight / ST & [ ¥ iRy
3. Learning by Imitation / 3[R0l & H1eAH H ST

4. Learning by Experience / 3JHd & A1y ¥ Sy

Correct Answer :-

» Learning by Insight/ TP & HreEm ¥ iR
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21) The child will be able to use proper sentences by the age of: / I ru 39 9 e areml &1
SUGRT HR URAT:

1. Five years /Uid ay
2. Four years / IR Gl
3. Three years / GIBECL

4. Six years / ®: T

Correct Answer :-

» Three years / GIBEL]

22) The rules of presenting the content to make them easy are called ./ ATRR Y =
T & fore vRga &+ & i ot FET A

1. Maxims of teaching / RRI&01 &1 g
2. Techniques of teaching / TRI&01 &1 qh-Ib
3. Methods of teaching / fRiefor @1 fafd

4, Teaching strategies / fRT&f01 YU

Correct Answer :-

+ Maxims of teaching / fR1&01 %1 Rrgia

23) Proximodistal means: /THIT ¥ g¥ (MRITISTd) &1 3 &:
1. Centre to periphery / %% 9 IR T (Tx T AR

2. General to specific / ITHIRI ¥ AR e (SR ¢ Wkithd)

3. Head to toe / RR ¥ IR & 33 0% (3S ¢ AIY)

4. Simple to complex / TRA W Sifed ddb (RAUT g HITiaT)

Correct Answer :-

» Centre to periphery / % 9 IR TH (@?T < W)

24) Teachers should overall have attitude towards inclusive education. /

R H T ST TARM RO Fufy {ur @A

1. Positive / JhRIHD
2. Negative / THRTHD

3. Different / GYh
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4, Neutral /ﬁ'&?&‘[

Correct Answer :-

o Positive / HRITHD

25) Social construction of gender describes gender as: / feir &1 Irfore fRator i o1
ol FRaT B

1. Personal opinion of their biological sex. / Sifde fofT & TR & Ie! afadid IA|
2. The behaviors and characteristics based on the biological sexes. /ﬁ% feITT o SMTYR U

AER 3R fa=wan|

3. A person is biologically male or female or intersex. /WW@T@WW@WWI@WW
AT BATR |

4. A social identity with characteristics placed by society for each biological sex. / YA oifde fof &
o T g1 1S 71 foRivarelf & Wiy Ue wiifoie usar |

Correct Answer :-

« A social identity with characteristics placed by society for each biological sex. / U Sifde T &
foTe ST gRT 991 TS faRIwdTen & 91 U ArHifoie Ugar |

26) What are the three components of the educational process? / mm%ﬁqu %'?
1. Teacher, Student and Education /ﬁ[&@, S @Tﬁl&ﬂ
2. Teaching, Learning and Practice / FRT&0T, & TH 3R 3y

3. Education ,Teacher and Books / QT&‘”, fRre GﬁTW
4, Direction, Instruction and Skill / '352 R @F;I,@;'QT @Tﬁ'&’fﬂ

Correct Answer :-

e Teacher, Student and Education /ﬁ[&“@, BIEI GﬁTﬁ[&ﬂ

27) A teacher who pressurizes his/her student to take his/her private tuition
lacks in which of the following code of professional ethics? / T& Rig& EICLE
BT $I (ol e®F a4 & e garg s1aar/ stadt 8, el 39 399 saeaniie
Afdear #t foea dfgar $1 w4t 32

1. Attitude towards students / STAI & Ufd \3{&!@%

2. Attitude towards colleagues / W&ﬁﬁéﬂ% 31?”—@%
3. Attitude towards society/W%Uﬁ 3{&@1%[

4, Attitude towards profession /W% ufd @fﬁ-@%
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Correct Answer :-

« Attitude towards profession /W%Qﬁ Grfﬁ-I?{Fcf

28) CANCELLED

Who describes mesosystem for how the different parts of a child’s microsystem work together for the

scale of the child? / fpa_ FRNRReH &1 givfa foar i 5w UeR = & A iRey & [t
YT Teh H1Y 9= & Thdl P foId BT Hd 82

1. Erikson/ SNIT
2, Piaget/ foars

3. Vygotsky/ CIEUIRS ]
4. Bronfenbrenner’s / SIS

Correct Answer :-

« Bronfenbrenner’s / SFHER
29) Kohlberg’s theory dealt with: / ﬁ@ﬁ"fa? Rgia @ geafUa g
1. Morality / Afaear

2. Perception / YRUIT

3. Cognition /@Iﬂﬁ-ﬂ%f
4. Interaction /Fﬁ[

Correct Answer :-

. Morality/ﬁﬁw

30) Which of the following is the most effective way to create interest for learning in a student? /

fefufea & 9 w1 fowf o § oftnm & g iR Te o3 T aad THTE a’ieT |1 52
1. Show relevance to their future / 37‘137 Higsg % ﬁ‘l'q RIS ﬁ_‘@'l:ﬂ

2. Activity based learning / Tifafafdr smefya srera

3. Theory supported learning / RIGId SR 3z

4. Teacher centered approach for learning/ ST & foR Sreamaes Senid wfafdy

Correct Answer :-

o Show relevance to their future / 3% Hidw & FQTQ PIIUETI a@ll:ll

Topic:- General Hindi (L1GH)
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1) Il 1Y T, At BT e

T 3hal YD AT e HR Tt IS0
ared} g1y FE T

Y9 Heaardl A 5 ot Rraex wen serr
AR A T BIST dd A 2wr gevrn

9 918 A UgT oY &, g A TG,
areft g4 SEHT

AeTa 3t A B Y@ Agd § T ST
T IRI DI WIfR B 3G U=t WifeR HAT
3T g it v & Wl sroe g oft v
Ut AT A Y AT ST AT A,
arf} g9 SEMET

T 9 TH A df Hav1 99 oAt § gian

TP 9 U A o R a1 wirer @ dawn

TP | U fd Y S 59 gpar § udd

T 9 Tw Ad o 3= 99 § 37 @ e,
areft g1y TET

TTE ¥ 59 O e At ang o 9

W $o 3U g A ST € 9T gEUR 9a A
F9 qP HeId & R § T Serd B ooy

BT TEIHR I Al (U U1 B awdiy, i ...
ST LR &) U 14 U W aTd URA T Ik 93¢
U: TF W TH 1 A ghar 99 Srar 82
1. URTS

2. 9T

3. P
4. qHx

Correct Answer :-

2) 914t g1 FeMT, At g1y Ferr
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Th APl Y STE e BT Sl ST
ardt g1y FE T

B Agdardl A o9 Y fireet ®weH Jerar
AR 3 31 BT gda A 21 gopran

79 918 o Sa1 v &, Tgri A W0E,
arft g1y T

Aed AU oG B 3@ AgTd & T ST

T AN P @R B 3G U WIHAR BT
o g Y T § et eroen g ot T
Ut Hforer = @t |fSTeT 1A AT AP,
ardt g1y FEET

TP A TP i &) BT o oira @ far

TP 9 U@ i Y R o e € AT

TP A TP et ot WS 99 weber 8 Uda

TH A T fd a3 o § e o R,
Irft 514 FET

HIE | 59 a1a fP1ad Hidl A1 ofet &
NPz gFaTd s T saR 9 A

%9 db Ag-d S R T A Gaa Bt ooy

BTY STHR S &1 37U U= 1 awd iy, el ...
IUYE U= B UgHR 9 U 9 aTd U= P Sk a3t
we: e are @ wgl A e Ut 8 Wl €2
1. gl D

2. foai &

3. NRBR &

4, AEATH R ToIGR] &

Correct Answer :-

« TEIdH TRl
3) rdt g1y e, |t g1y ST
TS APaT Y AT e B §i51 ST

aref} 814 FE T
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T Agdaral A 59 +ft fraey wed Jeran
AR A AT BT gdd A 2 gopran

T 918 o UgT o7 &, TgHI | R,
aredt g1y Fe T

HeTd ST A B AT AgTd A T ST

T I Bt WIfaR B 3G U= TR HAT
3T g ot e g et e g oft v
3+t wifSrer Ta & wferer U T A,
areft g1y T

T& 9 TS A df SarT 99 ST § gian

TH ¥ U it df oRT o e 3 9%

TP 3§ T fiet d % o9 Gbel © Udd

% 9 U9 fd df 5 99 ¥ o o fwa,
Tt} g1y FE T

AT A 6 AT ATl Al ¢ ofet 9

Ny zagFad s s sAR 9a A

Fd dF Hedd $ IR F I rad BI Hehiy

BT TEIPHR DI A 30 U b awdis, T ..
IUYE TR B UgH 1 YD W T U= BT I«ik qars|
UR: $fd 7 IR & {5 oF T &) Biardt & 82
1, 7 AR g

2. T SiTd

AR

4, G 3R S8

Correct Answer :-

4) TR g1y T, W gy TS

TP 3fhal YD AT FHd B Tt IS0
|t g1y TET

Y9 Heaardl A 59 ot ey wew serr
AR A TR BIeT udd A 2wr gevran
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T AR Y U1 F &, TgT AR,
i} g1y Fe T

TeTa 3T A Bt Y@ A | T ST
T IR BT WIFR B 3G (U=t WifeR HAT
o g Wt v § et eroen g ot U
3=t wforer g o AivTe ST T A,
arf} 814 FE T

TF 9 TF A @ FavT 99 S § gfvan
TF ¥ TP i o oRi o e 3 S

& 9 TS A df 378 o9 AT § udd

TP | UH i o 3799 99 | & o fovwa,
areft g1Y TEET

AT | B9 o1 fArepTe Al AT¢ o 9

S O 9 giaT § 991 § 9T §AR 99 3§
F9 96 AgTd & RN A I Gad Bt wieils
BT TEIPHR B A (U U B awdiy, T ...
ST UL B Ugd -d U W aTd YR BT Ik 9a1gv|
U=: AoigR He-Td - | F1 T8l svar?
1, YT TR SHD] IR g1

2. I TG SUH IR H §

3. BT 1 X1 IR IS I e

4, PRI T IYHT I Te

Correct Answer :-

. HIfP TR SHP IR A 3

5) ATt g1 FerT, Trft gy FerT

TS 3hal YP AT e HR Sl IS0
Tt} g1y FE T

7 AgIaaral A oig W ras? Heu Tgmn
AR A T BIST ydd 3 2w g

U AR & YT AR &, g A TR,
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T} 819 ST

Tgd AU G B @ Ag-Td A FT ST
T A Bt WIfaR B 319 U= QIR FRAT
o g 1t T & et eroer g oft T
ST WioTd T B WieTa S1ueT ¥t A,
aref} g1y FE T

T 9 TH A dt FavT 99 S § gfvan

TS ¥ U fied df RT 9 SIre § A8

T 4 & i ot S 5 wpar § udd

e 9 To A df 3 99 9 9 o fowm,
ared} g1y F@ T

TTé | 79 e FreTd At g 9 9
Nypssagham AT TneAR @

F9 TP AgTd S Wi A I grard i A

TTY TGTH S A 31U U1 B aediy, et ...
IUYS U=IIRI B USHR -9 U 9 aTdt U= F1 S«i¥ aais vl
;39 Sfaar B ‘Aeaaeyr 5 oe1 w82
1. SRTSIS Il Bl

2. MY RIS ASIGR] Bl

3. AT 4 X6 aTdl

4, TEId g1 B a1 Bl

Correct Answer :-

6) W} g1 gr1, |t 31y FgrT

TP Pal Yb ST e HR i ST
ot g1y T

T Ag-Iaardl A o9 ff e Hed Jern
AR A T BIST ydd A 2w g

T4 918 o UgT o7 &, 9gTH1 | TG,
ard} g1y FE T

AgTd 3t g Bt a1 AgTd & T S
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Fa IR B @R Bt 3G Srgt WifaR T
39T gt uw g Wl oo g@ ot T
3o+t Hforer T @ wfsrer SruT X% A,
[Tt g1y T

T 9 T A df SavT 9 Sran g ghen
TP 3 T i df wRi 9 o @ Sew

% A U A oY TS 59 Tpar § udd

TP 4 U i df 5= 99 # $1 o foheq,
et B1Y SEHT

ATE 9 0 AT FeTd Al a1e of e 9§
NP A G A TN ST gAR 98 A
FF TP AgTd & R F I rera 1 FeiY
BTY TETHR DI A S0 AU B iy, areft ...
ST TR D) UeH Y U 9 a1 WA P &k Jaisy|
UR: 9 Fidar & Wt F §TY IgH Bl Fo1 a3 fhaat SR FRT 372
1, T AorgRl

2. AETHAY

3. 9T HolgRl 9

4, Affen!

Correct Answer :~

. HiFHI g

7) ardi g1 FerT, It 814 SET

TS SHeberl Y TG el B S IS
|t g1 TEET

B Aeg-Taaral 3 wia W e weu sgmn
IR A T BIST Udd 3 = gorn

T4 918 o Uel o7 &, g1 | WG,
areft g1y Fe T

HeTd ST A St YT AgTd § T ST
Fe I P WIFAR B ST U TR HRAT
3T g +ft ue g el sroen g oft T
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Ut wivrer W &t |ieTe SIUHT XA AP,

1t g1y FE T

TP 4 TP fiel df SarT o SITa1 g ghan

TF 3§ T e o oRE 9 1T @ S

TP A TP A oY S 9 woben @ uda

% 9 U i df 370 99 ¥ &Y o foewa,

arft g1y T

Adt § gH a1 Ao At ard sa 9
WMo AT e ST FAR 90 A

F9 9% Agd S R T I Gad St ooy

BTY FTH: DI @1 31U |u=! &1 awd iy, et ...

ST T B UgH? 1 IS WF AT R BT I«k qars|
UX: TP AT Y ST Hd H gl ISHT A 1 aredd g2
1. 78 A IS TEI

2. N DI ST TR I

3. 3{abel STGHI DT TGN BT

4. RR 919 81 AT

Correct Answer :-

o 3B HTGH! HI TSI HAl

8) T gy qgTT, Wit §TY T

TS bl YPH ST e B a5t ST
areft g1y F@ET

TH Hgaardl A s Wi fraex sed Tern
AR A T BisT ydd A = g

T 918 A UqT I &, g A G,
It g9 FEHET

TEd AT G Bt I Ag-Td A FT ST
T IR BT WIfaR B 3G S0t wafaR HAT
g g it U § et o g ot U
SO HioTe g Y HivTe 9= AT A,

It g1Y SEHT
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TS ¥ T O wavT a1 o7ar @ ofean

TP ¥ TP Ot o R a1 e § ST

T ¥ Uo @ df 3 a9 T & udd

& ¥ U i df 59 99 § 32 o frwm,

ardt g1y FE T

A1t 9 gH o1d fAeTd Al ang Sid 9

Mo gagFaTd s TTsAR 9a A

%9 db Ag-d & W1 A A Grad Bt wioiy

BTY TETHR DI A 30 JU=I Y awd iy, At ...

ST UL B UgH ) T WF a1 U= T Iwk qarsy|
U 3T WioTe T @Y 6T S1aT 3T A% W fhad IR @1 919 @1 S 82
1. TETY YT @b

2. THTH Hiadi &

3. THH Wd TogRl bl

4. AT ATH SRR B

Correct Answer :-

. UETdPHY 3MTH AR ot

9) W g1 T, |t 1Y T

TH APl Y ST e B 151 SoTT
1t 81U qGHAT

T Agaaral A o9 +ft fraey Hea serar
AR 7 31 BIST ydd = 2 g

&9 913 @1 a1 $X &, Tg A IR,
reft g1Y FEET

ABIa 3T AT B Y@M Agd | T AT
T AN B @IfaR B 3rd U= WifoR HAT
o g ff T & et oo g ot T
3t ST T @ Hfere ST v A,
| 1Y ST

T A U fQ df SavT 94 5iran g ghean
TS ¥ U o df oRT o < § Ag¥
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TP A U@ i o) s o7 qar @ udd

TP I TS et o 370 99 | o o fa,

areft g1y TEHT

TTEr | g9 a1 FreTed it ang o 9@

W $© 39 giaT § ST § ST gUR 9 |

F9 b AgTd & R A I Gaa bt ooy

BT TEIDHR DI A U U B awdis, T ...

IWT UL B! UgH 1 IS 9 a1a U= T &R qaigy |
U= AT g Wt T g Wl Few oid fohd g 3 U Far e 2
1. 33T @t T § Tt S T 9HE - difsa @

2. g% gQ JAM &

3. P! U ol TR &

4. 3T 3R TN & W ST §

Correct Answer :-

. 3ol Bt e # Wt o v uE iftd-difed <8

10) it g1y wer, aredt 71y ST

TS SHPbal YD AT e S agl ST
a1t g1y T

Y Heaardl A 59 ot Rra®s wen sern
IR A T BIST ydd A 2w gevran

§9 918 a1 U1 X &, IgHI T8,
GICINEECE

AETd U A B YT AgTd A 1 ST
T IR B WIR B 3G SO w@ifeR HAT
T g it uw § Wl oo g@ Wt v
Ut wiTe A ot HivTe ST T AW,
It 814 FEHT

Tw ¥ TH At SavT 9+ Srar § gfvan
TF 3§ T i d R 9 w1 @ e

T® ¥ U O @t 37 59 9wt § uda

TP 4 U el df 5949 99 # F7 o fovea,
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a1t g9 FEET

TTél ¥ g9 e e it g 9 9
WpogagFard g ST gAR 9 A

F9 96 AgTd & R T I Gaa bt sieis

BT TEIPR B A U= HUA! B awdly, | ...

SUE T B UgH A1 U W 9T U= BT Iwik qarsy|
U ‘S IR B WIfaR PI’ D HaP! IR BT TT 572
1, |l BI

2. 3 B

3. XTST137 &Y

4. SHIGRI &1

Correct Answer :-

11) |1l g1Y T, W 71U ST

TS APl Yb S e HR 95 ST
i} g1y FE T

T Ag-Iaardl A oq i faee Hed Jern
AR 3 31 BIST uda 3 2 gepran

&9 918 ) Ha1 #v &, ggri 9 WS,
arft g1y I

AE=Td Ul oG Bt 3T AgTd & T ST
Fa IR B! QIR Bt 3T SOt WIR FRAT
3T g Wt T g et eroen g ot T
ST HivTe T & HiTE SUET T A,
Tt g1y I

TP A TP A ) BT o oirar § g

TP W U A o R a1 oI @ Jwn

TP A TP A oY S 7 wopen @ uda

% A T fd a3 o F a7 3 e,
ardt g1y FE T

At 9 gH 1 Ao Al @nd oia 9
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NP UG A TR ST sAR 90 A

F9 qF AeTd & RN A I drad B e

BTY TP B &l 3T JUAT BT G, et ...

IUYe LRI B UghR 9 U WM aTd U= $T &) Jarst|

UTT: AR A A1 BiT ydd A X gorar S 7 Tur wf $91 82
1. Tl & AT forddt T ot gopran < Tl §

2. Thdl & A BIS To! bl

3. Udd 3 ol &

4, TG I AT S

Correct Answer :-

. THdT & I Tl bt ff Fopran o Tt 3

12) 1t g1y s, Al g1y deET

TS HHdl Y S T HR 951 IS
areft g1y TErT

Y Hedardl 3 99 o fae? wed Jern
AR A AT BT wdd A 2 gopran

U AR & YT AR T, Ig W TR,
it g1y FE T

AETd ST A B YT AgTd A 1 ST
T I B @R Bt 39 U= WIR HIAT
T g ot ue g et eroen g@ ot T
3+t wifSreT w9 &t wferer 3o T A,
|t 1Y T

TP 9 Us fid a1 Sar1 99 o & eRar

TF 9 TF i ot oRi 9 e @ S

TS A T et oY 318 97 qHa1 ¢ udd

% 9 U i o 39 99 ¥ o o fvwra,
aref} g1y FE T

AT A g0 A1 fYeTel Al a1g ofet o
NP g A TR T sAR 90 A
Fd aP WgId & IR A T aa DI Fohs
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BTY FTHR B @1 30 U= o1 a1, a1t ...
STIT U DI UgH 1 I 9N a1d U= P &R qaigg|
U ...3Md U] WIfaR PIAT HEP P T BT A1gdT 82

1. S -Te] Bl drgdl

2. Rh oo IRaR & forg Agd =

3. 30 R=AGRT & ferg &

4, & [9GRMAl & fT o1, 3@ 3o fog o

Correct Answer :-

. $d facRrl & U o, 3d oo g 1

13) a1t g1y ggm™I, 9t g1y SgMT

TS SHball Y ST e B aigf ST
et g1Y ST

U Agaaral 3 59 W e @en Temr
AR A 1 BT wdd 3 2 geopran

TH IR Y UaT IR &, TgHI A G,
areft g1Y TEHT

AgTa 3T AT B YT AT | 1 S
F I B WIAR B 3G YT TR HIAT
3T g Wt U § el oA g ot T
U=t wfoTer A @t HivTe ST I AW,
areft 814 F@ T

TS ¥ T A ot et o 5I7ar @ gfan
TP ¥ TP A o R o o1 3 Se

U A T il | IS o Hepar & udd

T 9 U fid o 3 99 § o1 o fwa,
LIPS

et A g0 arat et Al A1 o7 |

S o 9 giaT ¥ 991 § ST gAR 99 °
F9 9% AgTd & WRI A A Gaa bt sioils
BTY FETHR S &1 30 Ju=1 &1 ey, Iuedt ...
I UL B UgH -4 U W aTdl URH BT Ik 93¢
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US: Th-U-U s e af feaeT fmfor dvg 22
1, Hh T
2. fopam

3. Hedl
4, 7dd

Correct Answer :-

14) |t 1Y ST, AT BT TG

TP bal YP AT e B St ST
aredt g1y TEET

TH Hgaaral A oe Wi fraex ®ed sern
AR A A BIST ydd = 22 gopran

T 918 o Ya1 I &, Tge A R0E,
i} g9 ST

HeTa It AT B YT AgTd & T ST

T I B WIfaR Bt 3rd U= WfR FAT
AT g9 Wt T g et oA g oft v

ST wiore T & wioTa ST ¥ A,
|1} §1Y qGHT

T 9 TH Ad & SavT o9 ST § ghar

TS ¥ U A df 9RT a9 ST § AT

T & U fdt & 3 99 Tpar § uda

o A T i @ 3 o § ) A e,
aref} 814 FErET

ATE | 79 a1 FreTd et g 9 9

M pozagFaTA s ST sAR 90 A

F9 a9 He-d & W1 T T Srad Bt ey

BT TGTHx S A U= U1 B adiy, At ...
Sudad TN B UgHR A IR S a1d IR BT Ik adsy|
U: Hfd & gara® - frwra &1 99 5 PR 3 931 § & Pl 82
1. ST T 3R Fgarh Ha
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2. 3TH Y PIS 5l
3. UATI @A ¥
4, GoTI-UTS Hh

Correct Answer :-

. 3T Uepdl 3R Tgartt 41

15) a1t g1 Fgm™I, At g1y S@MT

TP B AT YH AT Fd FR i IS
i} g1y FE T

U Agaaral 3 59 W frae? en Temr
AR A 1 BT wdd A X< gopran

T4 918 o UgT o &, TgH1 | G,
areft g1Y TEET

AeTd ST A B AT AgTd § T ST

T IR BT WIR B 3G St wifaR w1
o g ff T g wreht eroen g ot T
Ut AT W St AT ST AT A,
areft g1y F@ T

TS ¥ TP U @ HavT o1 &I1aT @ giea

TP A TP FAd o T 9 Srar g dewr

U A T il |l I 99 Hepdl & udd

T 9 U i o 3 99 § 9 o fwa,
|t g1Y T

et § gH o1e AT didt ard o §

WM pogagFaTd s T gAR 9 A

F9 9% AgTd & W1 A A Gaa bt sois

BTY FETHR S A1 30 Ju=1 31 ey, it ...
SUT TR B Ugd A U o a1 U= $T Sk Taisy|
T ) & e ofiR o1a 9 At 19 FNiepTa B @ 82
1, ORI Y0

2. DS URYEH! AeigY

3. Jol-So! AR
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4, IS-AERTS

Correct Answer :-

. B TR TR

16) T FIATHI G ol ST

T Ugh W # 39 S g Y el | T SR a1 1 e & UR SUST FAUS! F U SHRMT S WR &
RAfRETar vear 8 1 R 9159 $ WA SfRET 99 g9R R 8, 981 g @ ol 31,3, e F 3iew R gegst
S TGRY...! T BIp T ¢ b1 | SUD! BID S I3 'HHT, Hig 7 Srell?’ 91g A HU-We R $Hde aa
TY UBTI THS ¥ 7Y 1 616 T §U HYAT A H61 - T1 e ST 81 St & sirram o1, arqy g oft +fig 7%
et a1 Y Rie erma g et - =18 wivTe & vgelt I1a gg g Y 3iret ' Hram g1 argen o1 & 9w
HeT # arg &1 4t A T 77e T | |12 FAUC b URT &S IgdT & THIA T, 1Y HIg I TR T | T Fal
IR T g3 RETa-$ T 3 iR & S 3R SRTHS & UTH 811 HR 5P 41| HIAT JUaTY P I A1d B are—
T P 3 A P WA BT SR YA AT HSP gl & Y| SH TGTI HIAT U 7T - TR Sl-WR T &,
... TaY, Rt I 8T 4TI FT 3d HIAT PI SR TTI 591 Ju 7| R gnihea 3t ok gaa! ara & gen
T | ST YBT - 'GEERT ATH BT & U1 HIUTS TT HIY?' .. AT {37 9% AT 364 F 916, 31T 31l 379 & ve” & arg.
I e @ X U waTel S oIT HaTd AT § 1 91, 1 a 8% S €1 21 39 @ & g9 Y8 §, g9 A $Ed
g 1. sg e BEd A, 9 919 H0 FE B gard A, R it 3 9 7 w1 8 e ok sRIR arg g9
PIH-BIH Pgd U1 G 6 W feait Hed A - g1 O .. AW A 1 8, I Y

9 ¥ 3¢ iU goIR 74...0"

'R TR AT WA H €, 1 -SolRIaRT St 3R HAT 59 aTel R SAHaTdT, SRT! T JaTdl & Sad ¢d 90
8 A W B GET ST AT 81

ST TR BI UgHR -4 U T U BT 3@k gaiga|

TY: ST T YA §T PT, 'S W8 A Ugell ¥d gl A1 o1 a1’
1. UIRY

2. et

3. §aPI
4. e

Correct Answer :-

17) . PTG ol S|

T UFP HET 4 38 St Fiq T et | AT iR =1 1 Ty & AR SHBT HAUCT P U GHRN AL &G
RrafraTar vear 81 R @Ea F RA 3RS 99 e9R RM g, a8t e al ol 8 1.3, TP & 3ieR bR geget
ST ARGRY....! BT ST T T HBT A 3P B o1 3311 AT, g Tl Sreil?' 91y A FU-WE W FIac ad
BU YD THS § 7Y 1 TP PR §U BIAT A BT - TgT Aig St 7Y smuht, & wiran o1, argy gah oft g =8t
ST, 1g = RIReE GerTTd §U &8 - =18 W18 T gl I1d g3t g el STl I ST YS+1 argar AT f ¢ dier
THT § 919 B1 3t T3 B 7Y T | T2 FAUC B U I 35T & SHR R, 1Y DS e TR @i | Th Fel
TR T g3 RETa-$ T #1 ok & S 3k SRTAS & U 311 R S 1411 HIAT JUaTT P 31 1ad &I drg=
N S A TG P @I B 3R YUAT ST Hb gl 7 JAT| 3T TGT| BT THS T - SR Sdl-GIR $1 8,
... TeY, Rids a0 8T 411 P 3 S B 3R g1 gaT o @ | b gaTfham $) Sk g °re | =
AT 919 7 UBT - 'GFRT A1 ST § I1 HIHe 91 HI2' .14 37 9% A1 761 & 91, 3ot et a9 F ugr A a1y
A T T B3 TP TaTd S ST FaTd {51 € 1 91, A o AR ST S 1 3 AR P goIR HE €, SR AT hed
g1..fama g P B8d 3, 1 919 $OH1 $E B gard 3, R it 3 7 fa7 s wer ok
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SRTR S I THRM HIT-HIH Bgd A1 G 54 W Geerit Ha & - 51 W S A & F1 8, 192 o a9 F 31
HieTl IR AMH...1!

"TRRT TR YYTA TRIET H €, I1 -SRI $1 32 HIHT 59 aTd R SRISGaTdT, SRT! WY TaTe & waTd ¢d THg
9% THA STl A gr Er AT 21

IR IR B UGHR 11 T T U= BT @ garsyl
Tf: AT Uy fpae! Haa &) arew e

1. ST bl
2, T &Y
3. SRR DI
4. A B

Correct Answer :-
L) ﬁa’ﬂ‘
18) .. HHT PI Ig ol Mgt

Y UFPp 7T 4 38 St Hig T8 et 1 AT Sl iR 1 vy & AR SHDT HAUSH P U SRR Aot &
RefermTan vea1 81 R e & R SReE 99 R R B, T8 g af el 813, 71 & e fbx gsust
ST TRGY....! FRUT ST T T ABH W P! B o1 3311 AT, g el 3reit?' 91 A HY-WE W HIac aa
TUISTI THD & YA B TP B §T FIAT A 5T - '@ -ig Bt T8} omeht, & wrvan o, arqy qer oy g 78
ST, 919 A Re Yo U #81 - ' o177 & Ugdlt I1d G g el Tl ' A1 Y- argar o7 fos g e
BT 8 a1g H1 ot TH $I 7Y A | T2 FAUS B U &S 8T § THAT 2. TG Pl N THFEA & | TH
IR T g3 RATHE.- ST 31 iR F S 3R SRTHS & U ST HR TP 41| HIAT JUATT P 1 1ad B arg=
TN P A AT P WA BT SR YA a1 B gl & YUT| SF TgT1 HIHT JHS TT - TR Jdl-ER Fal g,
... e, Rids Fu 6T 4TI P 3a ST B 3R G711 ga1 Y @ | b gaiiham # ¢k g °re | war
1| 919 A UST - "qRRT A1 HIAT @ U1 HIHwES U1 B2 .. Ad &1 d AT I§ & 91G, 37T 3Teht I & Ug & a1
A R W X TP waTe & ST FaTd a1 81 '91g, A a8 SeAr 81 2 1 39 o & IR e §, TR A1 dea

g 1. sg FiA B8d A, 15 919 $0H1 $E B gard 3, R it 3 7 fo7 Fr € e ok

SR AT <l THRIT BIH-BI Bgd A | G 361 R eenll Fa & - gra A H39:.. A1 & 71 §, a9 S 79 § 3y
T TR AM...!"

"TRERT TR YYT R 6 §, TR Te-goRIaNT $1 32" HIAT 9 JaTel IR SAPHarl, SiRT! U8 el & oia1d ¢d 99d
e THA SN B geT ST A 2

IR TR DI UGHR A1 T ¢ W= &1 I« 9a1g¢|

TSY: "TFETRT -ITH HHT § °T HRAS a1 Hq?' A wy forea fopame
1, 91§

2, WM AR A

3. el A1dd =

4, HDHT HIfeidh

Correct Answer :-
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19) 7N U AH § I8 Bt wite TET SiTell | AT 3R ari-=r Bt 77e & WX SHBT H-US B U gHRM el R g
R ¥8a ¢ 1 Qe W18 & R SREE 99 59 [ &1, G861 A1q df 3Tl 8 1...3, 1 & $iex fihe
oG ol TGHY...! HYHT S T ¢ b & IqB S Yol 3311 T, g e} el a1 A Fu-@e w®
PIC Ad Y YDBT| TS A TYA P ATH Bd §T BIUT A BT - 'Te1 g S 78T ameatt, & wrar o1, arqr gt W fig
81 smuhl, a1 A Rk Germa 5T $81 - 7S wiTe W gl rd gt g et eimelt 1' At T Tneen o {5 e
"UReT T | a1g 1 Y TR B 7Y At @ |12 $AUET S R < T8l & S .. G IS I TRE il | T
FT TR AT T REFA-B I 31 iR I 31T SiR aRTHS & URT 311 B $F T9T| HIAT U9 $1 St -ad St
ATSA T P A TG B W1 B 3R YT FHell HIb 59T § AT 3T §T1 AT THY 7T - TR Jal-TR P18,
Trar:... T8Y, R Ju 8T 31| FT 3F HIHr B 3R g1 ga1 g @ | ik ganfhea™ @1 oiR gas! ara | e
T 9197 UBT - 'GFeRT AT ST § I HHe 91 HIY2' ... 37 9% 1Y 769 & 91, 31t Sneft ra F ugr A a1
3 fee Tie o7 Ue Fara & o ward fbar 81 1&g, A O 3R1 H91 €1 8 1 99 w91 & geIR U §, TR A1 Bgd
T 1...frar S1g FIe FEd A, 91 919 A1 B HR gard A, Rig it A 9 feT e € wer 3w R a1g | gAwn
PYY-HIE Pad A1 G

61 R fowerht $a & - s/a W B9 AT # /1 8, T2 S 9 S HiRu ! g9 AL

'TRRT TR YT WRIET H &, U7 I-GIRIERT B 3R2' ST 39 HaTel IR SEIHT, SR T 94Tl & Siareg o 999
9% THA STl B gr ST AT 8l

STfeR TR B Uga =12 U T U= $T Sk qarsy|
w: et e B SR | T=d AT g3 S TET?

1. A

2. AIBIER

3. Uei

4. Pl

Correct Answer :-

20) .. HA1 DI Alg Tel MG

Y Ueh AT A 34 B g TeT ot | AT SR ATf+izr 1 71y & WX S HULT P U GHIT A TG
fermferaT Toar 81| R 1S & R 3ReE 9 §9IR M B, 961 Alq df 3Tl ¢ ..., T  9ieR i gogst
it TgRY.... BT St T Y AB H IS Bl S 3311 BT, g ALY 3M1eite’ A1 A HU-WIE W HRGE Ad
BUUST| THD | 7Y B WP HId §U BT 2 el - 'T81 g St &Y ermunht, & sirvan o1, argy g off i =8t
e, a1 A Rive erma g &1 - =18 wivTe & vgelt I1a g g 7Y airet ' Fovam g1 argan o1 & 9 e
7T § a1 B oft IR B 7Y TR 8 T2 FAUC F U o YEal @ SR 1. 1Y BIS W TATA @ | TH Bl
IR T g3 RTHE-$ i BT SR & ST 3R SRTAS & U 311 HR TP 41| HIAT JUATY P $I 1ad B arg=
T Pt 3 A1 P WA BT 3R YA a1 HRS gl & Y| SH TG HIHT JH TT - AR Sdl-ER FaT g,
... TeT, Rt o 8T 11 T 3 HIHT I 3R G| TaAT Fu | iR garihea #t oik gore are | T
TR | ST UBT - "GRERT ATH AT & UT HIUTG U1 HIY?' .. AT {37 T% AT 354 F 916, 31T el I7d & Ue” & arg.
3 fea Wia o3 T Tara & 1 Fard fohar g1 91, A o) AR1T HA1 €1 81 3% A % §9IR 4§ §, 89 A ded
?1..Frar s e BEd 3, 191 919 S0 B B gara U, Rig oft A 9 37 B ) pet o SRAR a1 Al R
HYY-HE HEd A1 G

6 R feeerf B & - g1 B R, 10 & I €, 9192 St 09 F Y FRY I g ALy

"TRERT TR YYTd I | €, T Te-goRIaNT $1 32" BIHT 39 JaTd IR SEhardl, SR T8 Jardl & odd ¢d 99d
e IWQ SIRN Y GET ST AT B

IYYF T DI UgH Ad U Y U= FT S qarsel
WY: 98 YT drgdn oI, T fuferi@a wee & arg &1 oft 73 o vy et 82
1, WHFIWRH
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2. “URET HHH
3. ‘B b
4, g’ HBH

Correct Answer :-

21) 7.1 BI g THT e

T UFPp HHT § 38 B Hg TEY et | AT SR ani+i=r 1 WY & AR SHPT HIUEH P U GHR WAL HR TG
ot v5a 8 1| R A5 & WA 3ReAT W9 §9R TRM B, 351 g al orelt €13, T & e O gous!
ST TRGHY....! BT ST TN ¢ HBTE A TP BIp 1 3311 'HAT, g T 3reil?' qIgy A HYMIE W Hae ad
TUYDTI TS F YA B W% B Y HYAT A 5T - F51 e St 78} smeaht, & siverem o, gy gt o Fig 78t
@t 919 3 ReTve e §¢ o1 - <8 wvig A ugelt 7d gt Y 7€l it 1" A g argar A1 % ¢ diear
BT a1g P1 ot TH FI 7Y A | T2 AU S U &S 78T © THR 2. TG DI N THAN @ | TH Far
TR AT T RATHE- ST 31 ok & ST S aRTHS & URT 31 6 S T AT JUaTT P B -A1ad BI ars+
T G 3 91 @1 B 3R YT S Hd gaT § YT 3T TGT1 HIAT A T - TR dl-WR 1 8,
ra... TeY, R g TeT 4TI T 3/F BT B SR T | 791 Yu | bR ganfeeam &t ok gae! ore & 7
TR | ST A YBT - "FEERT -ITH BT @ UT BTG TT HIY?' .. AT {3 9% I I8 F 916, 31t 3l I7d & ve” & arg.
A e @ X U waTel S orT HaTe fHar 81 91, 1 a BR1 ST 61 21 3 @l ¥ g9R Y §, R AT PEd
B1..ara a1g A Fed 3, 9 919 S $ B gard 3, R st 3 7 &7 o1 8 wer o e/ arg e ghEn
BB Bed A1 G

61 W fewenft $a & - g1 WY B A W 1§, 197 o 79 § S T §oIR ALy

"TETRT O AT TR H B, T7 I 1-gRIaNT B 312" HIT1 56 HaTd IR SIbaral, SRT T Wardl & oard $d 90g
8 A ST B gET ST AT 81l

ST T B UGHR -1 T T U= &1 ik 9arsel

TS: R A5 & R P R TR Y &) g o Sl 22
1, S H

2. T R

3. WA

4, IR R

Correct Answer :-

22) .. BI AIg 78T ST

T U AT # I8 Bt g TEY aimeft 1 AT Sfiv arfir Y vy & AR SH ST F U FERM Aorf- R o
TereferTan Y51 81| R 1S & R SReET 9 IR [ B, T61 g df 3 8 1.3, TP & e fox ge st
ST TRY....! AT BIHA T ¢ 7B A ISP B o1 3311 AT, g el Sreil?' a1y A FU-WIE W FIac aa
BU UDTI THS F 7Y 1 T $Hd §U BIAT A Bl - Tl g Hult 7Y smuht, ® wran o1, argy e oft g 78t
ST, 919 A RITe YA U H1 - '8 o1 § Ugdlt I1d T3l g Al Tl ' 4T g1 argar AT fos =g der
T # a1g P! +ft gA P Y I | 12 FAUS B UM IS T8l ¢ THIN 2. 1 DI e TR | TH e
IR T g RATa-$ T $1 iR & S 3R SRTHS & U 311 B $ 1411 HIAT JU=TT P $1 A1ad &I darg—
T G A TG P @feT B SR YAAT ST HP g1 7 JAT| 3T T¢T| BT THS T - SR dl-GIR F1 8,
... TaY, Rt g 8T 4TI F1 3 HIAT P SR GSTI 741 Yo 7| b gariheam $t ok gas! ara & gan
T 919 7 UBT - 'GFeRT T ST § I1 HIHe 91 HI2' .14 37 9% 14 761 & 91, 3t et a9 F ugr A a1y
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3 fod Wia % U Hara & ST ward fohar § 1 91, A1 6l 3R1 HIAT E1 8 1 3 A P gOIR UE §, §9R A1 dgd
T 1. A 919 ST Fed 3, OR7 919 HUAT H B gard A, Rig oft 7 7 29 &1 € #er o SRR arg Y ghwn
HI-HIE Hod A1 G

6 W Reeaft w7 A - g0 AR v, A B a1 €, 9192 o 09§ Y HI¥TI §9IR ALY

'JEERT TR TUTA WRIFT H 8, U1 - FoRIanT 1 3R U1 58 WaTed IR S, SRT U Tl & Sa1g dd 90
98 WA W Y ger Fr AT 2l

STI T B Uga =12 I T %7 $T Sk qarsyl

TS AT 3T A B Y F AR ITDT B-T1Ud} & U {1 & Tgar 41
1, MY RR A

2. 33 R

3. RRRT

4. Al R

Correct Answer :-

. AR R

23) .. DI AIG 78T ST

T TFP AP A 39 Bt g TET i1 T SR AT Y P AR SHS!T PAUE S TR AR LW &G
ot TgaT &1 R A3 & R 3fRA 99 g9R R 81, 961 Hie af ol ¢ .3, P & SieR i geust
it Tg...! e S @) Y g § 3! St 9 38 e, e g il 9y A Fu-Ee ) HRae ad
BU BT THS | TYA Bl AP Hd §U BIAT A el - T8l -ig St 7gF emartt, & wran or, arqy g oft g 8
ST, 919 A RERE YA §T FeT - 1S o1Te | gl 0a gt ig el ATt ST GH1 A1gar o f v var
W A a1 P WY TR DI 7Y W & T2 FI S U & T8l & AR 12,919 D13 1M TN | Th Fl
= ITT g3 REFa-S i &Y 3R T 3 ok SRS & U 31T $HX I 4TI HIAT JUATT Fod B H1ad & are
T T A a9 Y @fear B iR YU 1 B3P gar | FuTl ST T HIAT THS AT - SR GA-ER P 8,
ra:... 78T, Rk Ju 8T 411 HT 3T ST B 3R YT a1 Ju @ | e qaifteee &t iR gas! a1 & gar
TT | ST A YBT - "FRERT ATH ST ¢ 1 B T HI?' .14 &7 a% ITY Ig1 & 916, Tl el I7d & Ugx A a1g
7 fow @a o= ve Hara & Sa1 gard fear 81 91, A9 @ W7 BA1 8 81 3 @ F gOR U 8, 89K AT BEd
g1..fama 91g FIvAr Fed A, 9 919 ST B HR gard 9, " o T 7 3T SR § wer Sk SR arg a gasm
PIH-BIH Ped A1 G 76 W Reanit $d A - 579 A 0.0 1 8, 9192 S 99 § Y S guR AM...L°

'TRRT BR TYTe WRIAT § 8, T I-gIR IR B 32" T 30 HaTd IR SREIHAT, SR T 96l & Sareg 3 99
9% THA Wil B ger a T AaT 2l

IUY e TR P UGHR 17 U ¢ W= BT I« Ja1s¢|
T BT B BEI A1G 161 3Tl 62

1. T Ueh HepT H

2, T #

3. 3Rt A

4. 94l

Correct Answer :-

« U UGS AGHE H
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24) T..BIATDI g Tl M

T TFP AP # 34 Hoft g e et | T ofR i &1 Ty F AR SHST PAUE S U GAR AR &G
RFREATT e 81 RN @159 % RA ST 99 e9R R g, 981 1 a) 3l 1.9, e F 3iax e gege
it TgY...! H Bl T A HBH W D! Bip o IS B, g AT 3MTeil?’ A A FU-WIE W HAE ad
BT UBTI THS J 7Y Bt TTE Hd Y HIAT 1 BT - Fgl Aig Hft gt smeeht, & sran o, gy gar off i =3t
3TEE), 919 A RARE Jerma ¢ F81 - '3 ST | ugdl Id gt g 781 STl I' SRy YT grgar of fb A o
T # a1g 1 Wi TR B 7Y I & T FIUSE S UTH &< JgdT § AR 12,919 BIg 31 TN T | Th P
™A AT g3 REFa-Hiam &Y iR & Simar ok sRTHE & T 31T $HX $P AT HIAT UdTd o B H1ad BI arg
AT B A 919 DI @lear P iR YU Fur HIP g9 § Tl SR T¢T1 HIAT A 4T - ST Sdl-GR P g,
Fra:... e, R Tu 8T 41| ST 3 HIET B 3R G511 g1 Y | b ganihe@n $t 3R gawt e d e
T 91 3 YD - 'JRERT AT HIAT & U1 $IHdS 91 HY?' .. |14 & a6 W1Y 767 & 91, 31T S1eh a0 & g & a1
A Re W B T AT b SET GaT AT 21 'S, T 9 AT HAT 8 21 3 A1) P §9R He €, g9R A Hed
g 1..fama arg ke Fea A, 09 919 FO H§ HR gard I, Riw o 7 7 3T Hrn § w1 ok R arg @ gasn
PIH-PI Ped V| T 361 R fewrit d3a & - g1 O H.. A0 & Fa1 8, T2 S 749 § 317¢ HiRT | goIR A19...."

'TRRT TR AYT I H §, I7 -SRI $1 32" ST 59 TaTd R SAHardl, SiRT! WY TaTel & d1d ad 990d
9% THA Wil S gEr g AT 8l

ST TR B Uga 12 IR MY 7= $T Sk qarsy|
TH: T HIAT DI 3R TS B FIT YA T2
1. TR

2. STHH

3. IRAT DI <8

4. ®dl

Correct Answer :-

25) BT B g Tl M|

U UFP HH 4 I8 B Fq T et | T SR anfiwr &1 vy & AR SHDT P10 P U gAR AR TG
forferaT Toar 81| R 1S & R 3ReET 9 §9IR R §, 961 Al of STl § ..., P & oiew v goust
AT TGHY...! BT BB T T HB A SP| BIP o1 3311 AT, =g Tl SfTeile’ qIg; A HY-WE W HIac ad
BT USTI THD ¥ 7Y DI A% Hd §T FIAT A T - Te1 -i1g S 781 Smett, & wirvar o1, aqy g o g 78t
ST, 19 = RReE GerTd §T F61 - =15 o916 § el I1d gat 1iG -To! ST I SRHT YS+1 argar o f ¢ dier
THT A 91 DI 4t T3 B 71 T § T2 HAUC B U ¢ IgdT § SHI H12... 1Y DS Md TR @il | Tb Pl
IR AT g RATT-5 e 31 6l & S SR aRTHE & URT 31 6R S TT| HIUT JU=TY ol B -Had 3 are
T H A I P! Wlear $T SR YY1 Ha1 B gal & JuT| SR T¢T1 HIAT THS T4 - TR Sdl-ER F1 8,
ra... TeY, Rt g w1 4TI T 3F BT B 3R YTl g9 u e | bR garfibeem &t 3R gae! ore 9 Iar
7| 919 A YT - 'GRRT ATH BIHT § U1 HIHHS 91 HIq?' .. A1 3 76 |IY 369 & 915, 1ot 3meft 7 & ygR A arg
3 fae Wie B2 U WaTa & ST HaTd AT § 1 'S1g, T A 8T AT € 81 39 NI & 69K e §, 89IR 91 $5d
F1..frar a1 Fivm FEa 3, 9 919 F00 F§ P gard 3, Rig <t A 9 9 s § wer ok

SRR A1g Al THIT HIH-BI Hgd A1 TG g4 W el Hd A - g1a A HIW:.. A1 & |1 §, qge St 79 § 3y
PHIETI TR AM...!"

"TRRT TR TYTS TR &, T -SSR IR B 3iR2' AT 59 FaTdl IR SEHral, Sk U9 946! & Sarg o 999
qE A SR B gET ST AaT 21

IUE TR Bl UgHR 19 U 7T YR BT @k 9a1g¢|
WS: BT GIThR@M B SR St T1e | T
1. dS1 91

Page- 29



2. HeOW T
3. it =

4, AP AT
Correct Answer :-

EAEF I

26) BT B! g Te 3T

T UFPp HHT § 38 B Hg TEY et | AT SR ani+i=r 1 WY & AR SHPT HIUEH P U GHR WAL HR TG
ot v5a 8 1| R A5 & WA 3ReAT W9 §9R TRM B, 351 g al orelt €13, T & e O gous!
ST TRGHY....! BT ST TN ¢ HBTE A TP BIp 1 3311 'HAT, g T 3reil?' qIgy A HYMIE W Hae ad
TUYDTI TS F YA B W% B Y HYAT A 5T - F51 e St 78} smeaht, & siverem o, gy gt o Fig 78t
@t 919 3 ReTve e §¢ o1 - <8 wvig A ugelt 7d gt Y 7€l it 1" A g argar A1 % ¢ diear
BT a1g P1 ot TH FI 7Y A | T2 AU S U &S 78T © THR 2. TG DI N THAN @ | TH Far
TR AT T RATHE- ST 31 ok & ST S aRTHS & URT 31 6 S T AT JUaTT P B -A1ad BI ars+
T G 3 91 @1 B 3R YT S Hd gaT § YT 3T TGT1 HIAT A T - TR dl-WR 1 8,
ra... TeY, R g TeT 4TI T 3/F BT B SR T | 791 Yu | bR ganfeeam &t ok gae! ore & 7
TR | ST A YBT - "FEERT -ITH BT @ UT BTG TT HIY?' .. AT {3 9% I I8 F 916, 31t 3l I7d & ve” & arg.
A e @ X U waTel S orT HaTe fHar 81 91, 1 a BR1 ST 61 21 3 @l ¥ g9R Y §, R AT PEd

B 1. s PiAr F8d A, 1 919 FOH1 $E B gard 3, R it 3 7 o7 o 8 wer ok s Sy ) sasm
PIH-BIH Ded A1 G381 R fEeerni Bd & - gra A 2. 719 A 1 8, a2 S

A H 3T HigUI §IR ATH...!"

"TERT O VAT TR H 8, T7 I 1-gRIENT B 312" ST 56 HaTd W SIHamal, SRT U Warel & ward $d 90y
8 A ST B gET ST AT 81l

IR TR DI UGH -1 TR TT Y= $T IiX Ia1gu |
TS HIHT A 919 A Y81 T 61 31 B a1 D12

1. 3RMH

2. g

3.3

4. Tt

Correct Answer :-

27) .. P i 81 M|

QY AT A 34 P ig T 3MTelt | AT SR AT P 71 b AR SHDI HTUCH P U AR ASHA-HR
¢ ferfeeTar tear 81 W @139 & R 3w 99 g9 TRE &, 981 A1 df 3Tt ¢1.9, 16 & 3fe¥
T et oft Odl...: 31 SidA @I T THH § ITD! DD Yo 31| ST, g "6 M2 &g 3
FU-Tle W Hac dd g¢ TBT| THS | YA B AP HId §C HIWT A HgT - Tgl g Hit 7Y emeeh, &
ST T, Ty ge ot g e emeht,; a1y A Re germd §¢ et - 1€ wire § ugel wd g8l Hig T8
ST I' AT T et AT foF ¢ Oiear 9% § a1 $i ot T3 &Y 7Y Tl § T2 $U) & U g, gl
B U 1. 19 BYS T TR @ | Th H TR GITaT g3 Ra-$ e o 3R | 3 3R SRS &
U 31 R T TAT| HIHT JUATT Pl B 19d P drs M B 7 A1 B WledT B 3R YY1 el b
AT T LTI ST 7| HIAT JUST T - TR Sd1-W R P77, Fe... T, R Ja ¥e1 uT1 Hm 3@ e o
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3R GST1 5T YuA M| fibr Gfthae @1 3k gas! a1 | aa1 T™T1 979, A U1 - "JRT 714 HAT g I
PTG AT B2 .14 fT 9% 14 T8 F 971, et 3meft I1d & v § 91 A fewr @e o= v wara & o4
TaTd fRaT 81 191, AT @Y BR1 AT S 21 97 AN P TR Ug §, T9R ATH Hed 2 1. 91g S wea
¥, "I 91g BT Bg B gard A, g st 7 9 a7 «n € w81 3 SRR 1l g9 HIH-$HIH Hgd A
G ¥E1 R fewenlt 3d & - g1 W S A1 3 1 8, 9192 o) 79 § Y $i3T | §9R ALY

TR UR HYTT IR H §, I AH-ORIART $T 3iR?' 1§ AT R SAH AT, ORT! T JaTd] & sara
3 G 98 WA ST B geT ST Aar g

TR TR B Ugh -9 T T IR HT IR Ia1s¢|
TY: 7T & 3ige fh o oft?

1, G

2. Bl

3. 9p™
4. g3ga!

Correct Answer ;-

28) .. HUTHI i Ta! M|

QU AT A 34 P ig T 3Tt | AT SR ATFIRT P 37 b AR SHD| HTUCH P U AR ASHA-HR
% FerfaTar t8a1 81 W @139 & R 3w 99 R TE &, 981 g df 3Tt 8.9, 16 & 3fex
ftre gt oift agdl...: w1 Sida T T UHE § TP SIP Yo S| ST, g A8 T2 &g’ |
FU-WIe R Hac dAd 5T BT THS A 7Y P! AP Hd g€ HIAT 1 gl - gl g $t 781 enmwfy, &
ST AT, Ay g Ot g T8 e, a1g A RRe Jard U @El - 18 STg | ugd! Ia g9 g el
STl 1" ST YBT =TeaT AT {3 ¢ GieaT 7ept § a1g &1 Y T3 B 7Y Tl @ F12 FU) & U &6 gl
2 SR ... S1g P Tid T o | U Bl TR TRITdT g3iT RITTe-$ i o1 3R & 31 iR R &
U 31 R T TAT| HIHT GUATT P B A19d P drS N B 7 A1 B WIedT B 3R YUAT SHell S
T W AT | 3T T¢T 1| HIAT WA T - S S[I-GR HT 8, ATaTL... e, Ryt 9 TgT UT| HIT 3 AT B
3R Y11 gaT Yot a1 fhr GaTftpeam™ &1 3R gl are | Tl 7| 9193 UDT - 'qFRT A1 HIUT 8 a7
PTG AT B2 ... 1A a1 q AU 64 & 901G, 31e1 3i1eft 1d & U | a1q. A e Wiet &% v Tara & o
TaTet fran §1 191g, AT o 81 HA1 € 81 39 G b TR 4§ €, TR AW Bed & ... Sar 919 R wea
¥, "I 91 BT HE B gard A, Rig s 7 9 a7 1 € Fer 3 3RFR a1t g9 HIH-$HIH Fga A
G E1 R fwenft 3d & - 5/ TR 3. A9 3 |1 g, 9192 S 79 § Y iU g9 ALY

"TRRT TR HUTH WA H €, U7 A-SoIRIaRT $1 32 HIH1 59 JaTd WR S=Pp<T, ST T Jare] & Srard
A IHY 98 THA S B GET a1 AT 2 |

IR TR HY Tg@ 1Y TR T T T S AT
TY: AIfI=T gaa: fory Wron &1 1eg 82

1. BRI

2. 3l

3. iUl

4. fe=dl

Correct Answer :-
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29) .. B I g 51 M|

Q Yereh AT A 34 St g T 3MTelt | AT SR AT P 71 B AR SHD! HTUCH P U AR <A
&4 ferfarar tear 81 Wl @139 & R 3w |9 g9 M g, 981 A1 df 37§19, 16 &b e
fihe gogSt olt TRl TR BidA @1 ¢ AP § D! BSIP Y IS11 AT, g T Smeit? &g A
HU-WE W $EC ad gE ST TS & AYA B) YIB 0 §¢ HIAT A el - 'Tgf g e 718Y amueft, &
e o1, argy g Wt g 7 emeht, a1 A Reke gawd gu we - A3 g # ugdl | g9 A e
ST ' AT TS ATedT 4T fF ¢ Orear 9% § 919 $i ot g3 3 7Y Trel § T HU) & U g, gl
2 U T2, 1Y BYS T TR T | TH HI TR GITaT g3 RAEa-$ o o ok | 3 iR SRS &
U 31 R T TAT| HIHT UTT P B A19d P 18 M B 7 A1 B WIedT B 3R YY1 SHell b
TAT T LTI ST GT1 HIHT JUST T - SR Sd1-W R HT 7, Aen.... T8, R Jar ¥a1 ur) e 3@ Ay &
3R eT1 gaT Yo | Fh- GaTftpea™ &1 3R g e | a1 7| 9193 UST - 'JRRT A1 HIAT 8 T
TS AT HIY?' ... AT T T ATy 64 & 915, 31e7 3A1eft 7 & Ug? | a1 A fea Wi w3 T Tara & 4r
gard forar 31 '91g, T | AR A1 81 81 39 AN &b §9IR Ug ©, 89K W $ed & ... e a1g s sgq
¥, TRT I, H F R gard 3, Rig oft 3 7 &7 w1 § $871 iR 3R a1g ot g9=0 H¥u-F30 Fed 1
G EA R feenht #3d 2 - 510 R .. A9 & /1 7, 9192 S 79§ Y iU g9R AW,

"JRRRT OR TYTA WA H g, T IA-OIRIGNT $t 3R? HAT 39 qaTd R AT, ORkT T Jaral & srard
T Y 98 A ST Y geT S Aar g

SUYH TR B U I IR T Y%A P Ik qargy|

wy: fraq 37 a% A1y 389 & 915 iR fory a9a a1g A e Wi &% wara feare
1. Td e AT SR I o

2. T A FIE T

3. 91d f1 ofR geg

4. 91d f iR aneft Id Y

Correct Answer :-

. gra a7 3R eneh g

30) .. HAI I i TE1 M|

Y Ug AT H 38 P Aiq T el 1 AT 3R A1 Y Tier & AR IHD! HTUE P U gA IR
¢ FAfaTar IBar 81 W @139 & R 3w 99 g9R M 8, 981 16 df 3Tt ¢4, 16 & 3fax
Y S gS! ot AYIY...! HIHT BId AN AT AHH H SADI DD Yo ST BT, g 7! STedl?' &g =
FU-Ee X FaT A §C BT THS ¥ YA B) WP $Hd g€ ST 3 Fal - ‘Tl g 1 78 emetfi, &
ST o, &y qer ot Fig T8 emeht, 919 Y RERT GeTa 8T FeT - S oe § ugelt I ga g e
STl ' AT TS ATedT 4T fh ¢ iear g% & 91g 3t ot g3 & e vl @ 12 $udt & U s, gl
? U AT, 19 1S M TR @ | TP BT T2 7T g3 REFa-$ e &Y iR 3 iR sRe &
URT 3T B TP TAT| HIAT U FI BT -9d B a8 a1 T A I19 Pt @i & 3R YY1 S b
BT T GAT| ST 97| HIAT JHST AT - SRR SA1-W R HT 8, TTTL..., T, R o TeT oT1 HIm 319 H2ar o
3R G371 gaT Jut e fibR genfieea™ & ok garst ara | Ial 7| 919 A IBT - 'JRRT ATH ST @ a1
PG T B2 .. T4 3 9% 1Y T8 & 916, et 3eft Id & v § 919 A faar @a &% v wara & o an
TaTd fFaT 81 191, AT @ BR1 BT €1 21 9 AN & TR UE §, T9R AW Bed 2 1. 91 SR wea
3, 91 9Tg BT Bg B gard 3, g st 7 9 fa7 wmn € we1 8 SRR 91 df g9 HIH-$HH Fgd Al
G 81 R fewenlt w3 & - g1 W 3. A1 § 1 8, 9192 S 79§ Y $i3T | §9R AW....Y

"TRTRT TR AT WRAET A €, a7 A-SARIRT BT 312 HH1 59 HaTd UR SEhardl, SiRT T Jare] & Sard
& Y 5 T SR A T AT 31
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ST TR $ UG 1Y Y Y 7= BT SR Fa1gy|
WY: BAT A THS | 1 A% Har

1.l

2. YA

3. 9% el

4. ST

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

Speeding is a punish-- offence.
1, --ing

2. —ers

3. --able

4. --ingly

Correct Answer :-

+ --able

2) Fillin the blank with the correct option from those given below:

An enemy that is not seen is an --seen enemy.
1. over--

2. half--

3. un--

4, in--

Correct Answer :-

3) Read the poem carefully and answer the question given below:
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The way a crow
Shook down on me
The dust of snow
From a hemlock tree
Has given my heart
A change of mood
And saved some part

Of a day I had rued.- By Robert Lee Frost

Choose the best statement which reflects the theme of the poem.
1. Winter is the time of the year that makes people gloomy.

2. Being out in the nature can make a person feel better.

3. Pets can bring joy to people who feel lonely.

4, Staying indoors for too long in the cold can be unhealthy.

Correct Answer :-

« Being out in the nature can make a person feel better.

4) Read the poem carefully and answer the question given below:

The way a crow
Shook down on me
The dust of snow
From a hemlock tree
Has given my heart
A change of mood
And saved some part

Of a day I had rued.- By Robert Lee Frost

Where, most likely, do you think the speaker is?
1. In bed

2. In a hospital

Page- 34



3. In a train

4, In a park

Correct Answer :-

« Inapark

5) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be
bright and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings,
floors, windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this
huge demand, the whole industry has responded and blossomed. There is an inexhaustible
supply of books and magazines available on this subject. The literature gives you an idea about
adding permutations and combinations, thus making it easier for amateurs to attempt home
improvement projects on their own without the help of professionals.

Which factor in a house depicts the owner’s personality?
1. Size

2. Brightness, warmth and ventilation

3. Materials

4, Cost

Correct Answer :-

« Brightness, warmth and ventilation

6) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be
bright and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings,
floors, windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this
huge demand, the whole industry has responded and blossomed. There is an inexhaustible
supply of books and magazines available on this subject. The literature gives you an idea about
adding permutations and combinations, thus making it easier for amateurs to attempt home
improvement projects on their own without the help of professionals.

What according to the author is common to all homes?
1. Appearance

2. Structural aspects

3. Garden

4, Environment

Correct Answer :-
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¢ Structural aspects

7) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be
bright and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings,
floors, windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this
huge demand, the whole industry has responded and blossomed. There is an inexhaustible
supply of books and magazines available on this subject. The literature gives you an idea about
adding permutations and combinations, thus making it easier for amateurs to attempt home
improvement projects on their own without the help of professionals.

For house decorations one should take one’s own help becauseitis .
1. more satisfying

2. more efficient

3. a way to try out various combinations

4. cheaper

Correct Answer :-

« away to try out various combinations

8) Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be
bright and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings,
floors, windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this
huge demand, the whole industry has responded and blossomed. There is an inexhaustible
supply of books and magazines available on this subject. The literature gives you an idea about
adding permutations and combinations, thus making it easier for amateurs to attempt home
improvement projects on their own without the help of professionals.

Name a source for ideas on home decorations.
1. Interior decorator

2. Hardware shop

3. Books

4. Furniture shop

Correct Answer :-

¢ Books
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9) Choose the appropriate pronouns for the sentence given.

The parents wanted to know if ___ would get a bigger sports field for children.
1. he, his

2. they, their

3. she, her

4, we, our

Correct Answer :-
« they, their

10) Fill in the blank with the correct option in the given sentence:

While shopping don’t be afraid to make a
1. compliance

2. complain

3. complainant

4. complaint

Correc‘t Answer :-

» complaint

11) Which of the following options best combines the following sentences?
Jawaharlal Nehru was the first Prime Minister of India. He was a great writer.
1. Not only was Jawaharlal Nehru a writer so also he was the first Prime Minister of India.
2. Jawaharlal Nehru was the first Prime Minister of India who was a great writer.

3. Jawaharlal Nehru was a great writer who was the first Prime Minister of India.

4. Jawaharlal Nehru, the first Prime Minister of India, was a great writer.

Correct Answer :-

« Jawaharlal Nehru, the first Prime Minister of India, was a great writer.

12) Choose appropriate articles for the given sentence:

teachers had late lunch as their meeting lasted longer than
hour.
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1. no article required, an, a

2. The, a, an

3. The, no article required, an
4. A, the, no article required

Correct Answer :-

¢ The, a, an

13) Choose the appropriate option that rewrites the given sentence in its passive voice.

A lesson was being learnt by Saina.

1. Saina was learning a lesson.
2. A lesson was learnt by Saina.
3. Saina had learnt a lesson.

4. Saina is learning lesson.

Correct Answer :-

« Saina was learning a lesson.

14) Choose the appropriate synonym for the highlighted word in the given sentence.

Does he really expect us to believe such a flimsy excuse?
1. naughty

2. funny

3. wild

4. lame

Correct Answer ;-

15) Choose the appropriate tenses to fill in the blanks in the given sentence:
Please a noise. Ritu to sleep.

1. not making, tried

2. don't making, tries
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3. don't make, is trying

4. make no, has tried

Correct Answer :-

« don't make, is trying

16) Choose the appropriate antonym for the highlighted word in the given sentence.

The family protracted their visit by several days.
1. postponed

2., advanced

3. shortened

4, defied

Correct Answer :-

+ shortened

17) Choose the appropriate conjunction for the given sentence:

it rains, the college will declare the holiday.
1. If
2. Though
3. As

4, Because

Correct Answer :-

18) Choose the appropriate prepositions for the given sentence:

My parents have been married forty-nine years, but you can still see the love
their eyes.

1. since, with
2. with, on

3. for, in
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4, for, at

Correct Answer :-

« for, in

19) Choose an appropriate modal for the given sentence:

My doctor said thatI_____ stop smoking as one of my lungs got infected.
1. could

2. must

3. might

4, can

Correct Answer :-

20) Choose the right tag:

The passengers lost all their baggage in the planecrash, _ ?
1. weren't they

2. didn't they

3. hadn't they

4, don't they

Correct Answer :-
« didn't they

21) Choose the option that best explains the highlighted expression:
All human beings have feet of clay.

1. to have some ailment

2. to have a defect of character

3. not very powerful

4, are cowards

Correct Answer :-

« to have a defect of character
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22) Choose the option that best transforms the sentence into its Indirect form:

‘What country do you come from?’ said the police officer.

1. The police officer said me what country did | came from.

2. The police officer wanted to know what country | am coming from.
3. The police officer asked me what country | came from.

4. The police officer asked me from what country | came from.

Correct Answer :-
¢ The police officer asked me what country | came from.

23) Choose the option that substitutes the given phrase appropriately.

A work of art made by carving
1. Sculpture

2. Pottery

3. Artisan

4, Artist

Correct Answer :-
e Sculpture

24) Choose the most appropriate determiner for the given sentence.

of what he said was very sensible.
1. A few
2. Many
3. Much
4. Few
Correct Answer -
* Much

25) Fillin the blank with the most appropriate preposition in the given sentence.
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Let’s sit the shade of this beautiful tree.
1l.up

2. below

3. under

4, above

Correct Answer :-

o under

26)

Read the poem carefully and answer the question given below:
The way a crow

Shook down on me

The dust of snow

From a hemlock tree

Has given my heart

A change of mood

And saved some part

Of a day I had rued. -By Robert Lee Frost

What does the crow shake down on the speaker?

1. A feel of the weather

2. A bad mood

3. A dust of snow

4. A leaf of the tree

Co‘r‘r‘éct AnsWer H

« A dust of snow

27)

Read the poem carefully and answer the question given below:
The way a crow

Shook down on me

The dust of snow
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From a hemlock tree
Has given my heart
A change of mood
And saved some part

Of a day I had rued. - By Robert Lee Frost

Choose a statement which concludes the change in the speaker’s mood.
1. The speaker’s mood is the same.

2. The speaker’s mood hasn’t got any better.

3. The speaker’s mood has become worse.

4, The speaker’s mood has become better.

Correct Answer ;-

» The speaker’s mood has become better.

28) Change the given statement to reported speech.
They said, "We have completed the presentation.”

1. The said that they have completed the presentation.

2. They said that we have completed the presentation.

3. They said that they had completed the presentation.

4. They said that we had completed the presentation.
Correct Answer :-

» They said that they had completed the presentation.

29) Read the sentence carefully and choose the option that has an error in it:

The teacher asked the child to repeat again because he spoke feebly.
1. because he spoke feebly.

2. The teacher asked the child

3. No error

4. to repeat again

Correct Answer :-

¢ to repeat again
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30) Read the sentence carefully and choose the option that has an error in it:

The management’s trusted employee was suspected of stealing large sum of money.
1. was suspected

2. large sum of money.

3. of stealing

4. The management’s trusted employee

Correct Answer :-

¢ large sum of money.

Topic:- Social Science (SSC)

1) Consider the following statements and identify the right ones.
i. Warm currents bring warm water from polar regions to the equator region.

ii. Cold currents bring cold water from equatorial regions to polar regions.

Frafafed syl w AR o1 ok 981 Y7 31 uga™ He|

i. T 4RI, ydia &5 ¥ Yoy &) g 1 o @t 2
ii. SUST URTY, YA &= A gdia &= a® 31 oa il 21
1. ii only / PAd i

2. i only / Bad i

3. None of the statements / $TH & BIs Tl

4, Both the statements / G’C@Tﬁ S HY

Correct Answer :-

« None of the statements / Eqﬁ I ﬁ?—f :@Df

2) Who remarked that "We must put an end to planning from above. We must put an end to
priorities being conceived and decided at ethereal heights, far from ground realities"? /

e @aT &, “gH SUd TR T OIS o1 3id S AT | gH BaTE SHursdl R SHH! ardfaddrel §
o, A ok Mrifea ot 1€ wrufware o1 sid w=a A rRw1”

1. Rajiv Gandhi / JTSitd et
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2. Shri S. K. Dey / 1 TH. &. S
3. Vinoba Bhave / ICEICIRNE]
4. Medha Patkar / AT UTeHT

Correct Answer :-

« Rajiv Gandhi / JTSitg Tl

3) Which of the following is correct about Indus Valley Civilization? / Rit] a1} Twaar & fawa &
T & T ad @2

i. It had well planned cities / 338 gf-aiford =ER 41
ii. It had elaborated drainage system / s'aﬁwr et Tawim fi

iii. The most common motif found on Indus Valley seals is unicorn. / fi¢] a1t &1 ge=i & yrar 9=
T A AT FUTH TH R I SR 21

1. All are correct / I+ TET &
2. Only ii / H9d ii

3. Only iii / Fad iii

4, Only i/ dad i

Correct Answer :-

« All are correct/ Gt TEt &

gl

1. National Institution for Training Information / '}I-‘QI"M i%cnl QIR '«I’;IJQ aﬁﬂgcb_lﬁ'-ﬂ:[
2. National Institution for Transforming India / ERIE K mﬂ B} m sfean
3. National Institution for Transition India / RITcl E@Eﬂ}‘{ﬂ BR E;Iﬁl‘-ﬂ:f siear

4, National Institution for Take India-forward / “RI-Tel s%c'hl R IR ¢h s’%m-wé

4) NITI Aayog stands for ./ Sifer smaT (NITT) &1 favga =u

Correct Answer :-

« National Institution for Transforming India / ERIETY ’:‘;‘&C'\ICQRH IR QiH l‘DLI’i’J\-IF‘I s'%ql
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Match the following:

1. Humayun A. Humayunnamah

2. Gulbadan Begum B. Badshahnama

3. Aurangzeb C. Alamgir

4. Abdul Hamid Lahori D. Insan-i- Kamil
AT o el &

1 g A, gAML ATAT

2. eide darH B. GG =ATAT

3. AT C. eI

4. Fegel GAHIG oG D. SeT-T-HIfe

1. 1-A,2-B,3-C,4-D
2. 1-A, 2-C,3-D,4-B
3. 1-A,2-C,3-B,4-D
4, 1-D,2-A,3-C/4-B
Correct Answer :-

« 1-D,2-A,3-C/4-B

6) Famous Women ruler Chandbibi of Ahmednagar fought to protect her kingdom against: /

TSR B YIS Afean e Figatdt A S/ I Fi & & g 379% v a1 @t o
1. Mughals / H7Td

2. Nizam forces of Hyderabad / gc3maTe &t fAsim 31

3. Adilshahi force of Bijapur/sSTqR & sffea=mea! I

4, East India Company /3% gfsa1 0+

Correct Answer :-

« Mughals/JTd

7) The purpose of field work in the teaching of social science is: / oI fagm= F e wies
qh P13 gl

1. To take note of historical events / UfgTRI® "e13{l TR & ¢
2. To gain direct concrete experiences / YeU& 3 SJHd UTtd Al

3. To enjoy the sight seeing / TICRA BT 3G 1

4. To have more socialization / 3{{¥h THTSIHRUT HI
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Correct Answer :-

« To gain direct concrete experiences / Y& 3N SJHT YTt HRAT

8) The approach that is very useful in organizing the content in history is: / EIGEL] A faug R‘i?ﬁ
B! afyd H & g it e¥wior aga Swanh g, a5 |

1. Concentric approach / W ‘e'f@aﬂw

2. Topical approach / % E¥eHIu

3. Spiral approach / it BT

4, Chronological approach / WW EHREaW

Correct Answer :-

« Chronological approach / WW HiEEAW

9) In which year was the battle of ‘Koregaon Bhima’ fought? / ‘®R7Iq WA F ds1E fHg af &

R0

1. 1718
2. 1818
3. 1796

4. 1857

Correct Answer :-
« 1818

10) strategy in which the government encourages the local production for domestic
consumption to reduce the dependency on imports. /

g U forad TRPR Smard WR YR $ F0 $34 8d T WUd & fore RITig Iaared &1
HrTed Fedl 21

1. Export promotion / fFafa dadq

2. Tariffs / U[eeh
3. Import substitution / 3TATd TCRITI

4. Quotas / Picl

Correct Answer :-

« Import substitution / 3T UTaRITIH
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11) NAFED stands for ./ NAFED &T areqd |

1. National Agricultural Cooperative Management Federation of India Ltd. / AR UlideRd
BrefTuRfed Foiie e R it sfear fafies

2. National Agricultural Cooperative Marketing Federation of India Ltd. / EERI] E«:i’lmw Pr3ffafea
A T e it fear fafics

3. National Agricultural and Commerce Management Federation of India Ltd. / ERE] WiheR T P
TeTic trevrM offts $fean fafies

4. National Agricultural Confederation Management Fund of India Ltd. /

Correct Answer :-

» National Agricultural Cooperative Marketing Federation of India Ltd. / SN Q‘/Inlchc"d'{m AN

A {1 g ex It ez fefics

12) Student gathers information or knowledge by forming the association and working in

team is known as: / BT Y BT TS HRP DRI TT [T 3HET HId € SR 1 A Sk
$d B, 3 39 U A ST 9141 8:

1. Problem-based learning / THIT - TR S{ATH

2. Community-based learning / W—Gﬂm ST

3. Collaborative learning / ﬂ?w ST

4, Experimental-based learning / RN Sremia Sy

Correct Answer :-

« Collaborative learning / ﬂ_@f["l'qpf ey

13) What is the approximate distance between earth and the moon? /q?ﬁf AR I5HT & S

B g8t AU frast 82
1. 38400 km/ 38400 fait.
2. 384000 km / 384000 .
3.250000 km / 250000 foHT.

4. 25000 km / 25000 T,

Correct Answer :-

. 384000 km / 384000 foo T,

14) When did Nadir Shah invade India? / TR M8 A HRd WX & ATHAUT fHar?
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1. 1766
2. 1749
3. 1759
4, 1739

Correct Answer ;-

« 1739

15) ‘Local Government’ is a subject which falls under ___ list./
WY RPN TF Augaegesife It & sianfa et 21
1. Concurrent / FHTd!

2. State / XY

3. Central / B3I

4. Local / R

Correct Answer :-

« State /Y

16) Social science as a discipline is a combination of: / QT&I'UT & =Y § grHIfore ﬁiﬂq
P1 TP YIS gl

1. Sociology, culture, evolution, economics / HHISIR[, '{-i%q)‘l?l, Iraobl‘{-l, Sl
2. Anthropology, sociology, culture, history / :[ﬁsﬂq, HHISIRI, Wﬁ, 2fder
3. History, anthropology, science, psychology / 'Sfﬁiﬁ'lﬂ, :[ﬁ?ﬂ:[, ﬁ?ﬂq, HIfa=
4, History, economics, language, music / W, 3 W, CININ T

Correct Answer :-

« Anthropology, sociology, culture, history / 'jlraillri, HHTSIRI, *{'l%q?i?l, $i?|€ﬂ{-l

17) In which state of India is Intensive subsistence paddy farming practiced? / HIRd & fra

34 | g fHate & e u= o) @< vafed g2
1. Punjab / USlTg

2. Rajasthan / ISTRYH

3. Gujarat / T[oRTd
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4, West Bengal / gig &

Correct Answer :-

« West Bengal / gf3y S

18) Who among the following established the Tattvabodhini Sabha in 1839 at Calcutta (Now
Kolkata)? / fFrafead & & foam 1839 § wawn (314 HIAwdn H dadiie = GuT ot
RITYHT H1?

1. Devendranath Tagore / g1 ¢TIk

2. Kesab Chandra Sen / &¥d g 9

3. Ishwarchand Vidyasagar / $%R4 faeImR
4. Raja Ram Mohan Roy / IS I Hig— 4

Correct Answer :-

« Devendranath Tagore / &Y IR

19) Ina society the goods produced are distributed among people on the basis of
purchasing power. /

w% TSl # ST d agaii 1 HT feT & SMUR W AN & ot faafea foean
EIGIE

1. Planned / FafSra
2. Socialist / THTSIAGT

3. Capitalist / GoildTal
4, Mixed / THTSd

Correct Answer :-

« Capitalist / JoTiare]

20) For teaching current events in social science, which activity is most suitable? / GIEGED

fas & adam= geei & Rreror & forg o1 @ wlafafy Jed Suge 82
1. Source method / &d fafes

2. Play way method / 0@ GRT fR1&for fafd

3. Debate / ATG-ddIG

4. Lecture method / SRS fafd
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Correct Answer :-

« Debate / ATe-IdaTg

21) FFW stands for ./ ThUhSY (FFW) &I ﬁﬁﬂ 7 %I

1. Food For Work / B8 IR ad
2. Fund Formation Window / g WIHR fde!
3. Foreign Funds Warehousing / BT hed JIRETSRIT

4. Federation for Financing Weaker sections / e Bk l-bl‘éqﬁ-l"l filpx Ta-M

Correct Answer :-

« Food For Work / 58 R 9@

22) is the principal advisor to the Chief Minister on all matters of state policies and
administration. /

Treg Bt fedl R v & 99ft Al R geEA S UgE HaeeR _ giarel
1. Joint Secretary / T BICE]

2. Additional Secretary / 3/0R Hfad

3. Chief Secretary / & BSICE]

4, Principal Secretary / YT BSIECE

Correct Answer :-

« Chief Secretary / ¥ BIEE]

23) is a body consisting of persons registered in the electoral rolls relating to a village
comprised within the area of Panchayat at the village level. /

o o g o g & Sefta fRafae Armafra) A dehiea safes wnfire g
g, Sl U TR R U=Ed & &7 § i g g
1. Gram Panchayat/ JTH UIRId
2. Gram Sabha/ UTH IHT

3. Block Panchayat/ i Gard

4. Tehsil/ T8I

Correct Answer :-

o Gram Sabha/ UTH HHT
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24) is a programme which has been renamed as Nutritional Support to Primary
Education.

/U O B, fore wrufires fRren & forg niwor errdr & v ® 9 e mar g1
1. Health and Nutrition to Rural Poor / UTHITT TRIST &1 WY 3R GIY0T

2. Mid-Day Meal Programme / H&[& CERICE

3. Special Nutrition Programme / o=y Uiy e

4, Nutritional Facility to Children / S| Dl YT Bl ﬁ%‘f‘ﬂ

Correct Answer :-

« Mid-Day Meal Programme / TG IS TSl

25) moved by Pandit Nehru, provided the underlying principles based on which
the Constituent Assembly completed the task of framing the Constitution. / ufsa
g% gRT ywarad far war ot foraw siafHifed Rigial @1 vera fear, s dfaur gur
A AU P AR B BT BT R fohan, ST SR W AT

1. Executive Direction / ®TIBRI FGRH
2. Orders / 3G

3. Guidelines / fG=RI-FE

4, Objective Resolution / 3%{‘\75[ by

Correct Answer :-

« Objective Resolution / G%QEI bl

26) is held when there are more than two candidates, and none of the candidates
secures an absolute majority. /

a9 ST SidT 8 o1d &) & Sif¥e SWiigar gl &, o &g +ff swfigar yout
CRUCKINEEHERG IR

1. Second Ballot / gl Hqux @WE’ éaa

2. Third Ballot / 1T HAUH (YS dTC)

3. Preferential Voting / ST TdaM
4. Open Ballot / gaAT HAUH (31U IdC)

Correct Answer :-

. Second Ballot / fiia AqU= (JHUS §le)
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27) Commission enquired into several aspects of allegations of abuse of authority,
excesses and malpractices committed at the time of emergency. /

_ 3TONTA AUTaeTd & R SAfUPBR, Saredt 3R guiadn & miul & &3
ugqsh I &g P

1. U.C. Banerjee Commission / 1. SFToT ST

2. Kothari Commission / ®IGR] SR

3. Phukan Commission / Tpeb=1 3TN

4. Justice J. C. Shah / (<l oI, T, M8

Correct Answer :-

« Justice J. C. Shah / AR o, ¥, TME

28) Under whose reign was Upanishads translated from Sanskrit to Persian? / e
RASTA § IUMYST BT 6¥pd | BRYT W SdTE foham T[T 412

1. Jahangir / SIRMR
2. Aurangzeb / 3RTSIE
3. Shah Jahan / =gSfgl

4, Akbar / HsR

Correct Answer :-

« Shah Jahan / QTE8I

29) The theory of experiential learning was introduced by: / PICIRICE I o1 Rigia 37{3‘7
R1 U= foan T T

1. Carl Rogers / Pl o
2. Tolman / aTafH
3. David Kolb / 308 ®icd

4, Bandura / IgR]

Correct Answer :-

« David Kolb / S[AS Pied

30) The most striking quality that a social science teacher needs to acquire is: / TP

Tt fasiT Rigres @1 erftmfed B & forg wad wgeayof qur g2
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1. Frequently conducting weekly tests and assignments / I Irefee uRien SR SIS He
SITATSTd AT

2. A feeling of developing democratic citizenship / ATBAIA® ARG A RId B P HITT|
3. Conducting extra classes during holidays / @‘@@f ¥ SRM sifafad PHETY TSI BT

4. Control the students and maintain strict discipline / BET B TR BT 3R TR SR
ERLIESCEIL

Correct Answer :-

« A feeling of developing democratic citizenship / AlBdiAD ARTRGT [ddhd PR Bl HITT|

31) The Reserve Bank of India was nationalized in the year ol
HR Rod de sragae~orad ¥ fasar ol

1. 1960

2. 1950

3. 1949

4, 1951

Correct Answer :-

« 1949

32) The Constitution of India vests executive power of the Union formally in the o !

YR BT GfauT H Nu=Tie U 4 99 &1 FrdeR) fe o Rifga sear gl
1. President / TI'E'EIﬁ

2. Prime Minister / THTHAT
3. Cabinet / HAHSA

4. Council of Minister / H3l RS

Correct Answer :-

» President/ Tl'gqi%f

33) Teachers encourage divergent thinking and allow students the freedom to ask their own
questions and to learn the effective strategies for discovering the answer. This method of

learning known as: /ﬁr&wﬁm@aﬁmmﬁﬁaﬁ?maﬁmwmaﬁ?
IR P Wi & forg gurdt Ioritfoat o hem 3t s 3a 81 Siftrm 3t ag fafy

=l
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1. Problem-based learning / THT-STHTRA SHfETH

2. Technology-based learning / TN smemia it
3. Inquiry-based learning / 3f-aVUL-STHTRA AT

4. Activity-based learning / TTfafd-Smema Sy

Correct Answer ;-

. Inquiry-based learning / SFAUI-STETRT SHTERTH

34) Defining the problem, analysis of the problem, collection of data, interpretation of data,
testing hypothesis and making generalization are the procedures in: / FHXT P ufyufia
ST, TAET DT [ITAUT, ST BT TG, ST B TSN, TRBTYAT BT Y& AT SR
ATATRABR0T BT o # Srivomerat &' -

1. Steps in discussion / giedl § =)o

2. Problem solving / HHIT YHTYTT

3. Project method / gRAISH (Wioiae) fafd

4. Supervised study plans / Taferd siera= Ao

Correct Answer :-

 Problem solving / FHIT JHTYT

35) Which is the earliest script found in India? / HIRd | tn‘é' S arelt Ja ugal ferfu
DI 2

1. Aramaic / 3‘R‘|ﬁ$
2. Kharosthi / BRIS3!
3. Greek / U1

4. Brahmi / ﬁ]ﬂﬂ
Correct Answer :-

o Brahmi/ awﬂ

36) Which of the activity is not included in inquiry-based learning? / - fafafer

3r=ayur 3T 3rfRRTH A =miire =81 82
1. Written assignment / fafea sgHe
2. Field work / TIeS d%
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3. Case studies / 9 ol
4, Group project / dHg gRAISHT

Correct Answer :-

« Written assignment / fafea GN'IE:I'Q_C’

37) Which of the following British Acts led to countrywide mass protest in India? / Fafefaa
o 9 fors fofesy siftferam & srRor uRa § ¢xreardt argfe® faviy foar man?

1. The Press Act 1910 AD / 09 3ffSTH 1910 STt
2. Rowlatt Act 1919 AD /e Tae 1919 STt

3. Multifanged Defense of Indian Rules 1915 AD / HRdIg = 1915 SU4T &1 Sguaiig &

4. Indian Criminal Law Amendment Act 1908 AD / YRald STURIRI® ST SRIeH ST 1908 Hat

Correct Answer :-

« Rowlatt Act 1919 AD /3de Tae 1919 394!

38) Which ruler of medieval India was credited for construction of Grand Trunk Road? / 3§

TP s & Ao &1 S AeadTels YRA & 5 e @ i war ar?
1. Aurangzeb / 3O

2. Babur / 9TeR

3. Sher Shah / R-8

4, Akbar / {heR

Correct Answer :-

o Sher Shah / RR-3MM8

39) Which ruler authorized British East India Company to trade with the East? / f&3 sma®
3 fafesr v 33T HU- 3 3¢ & 1Y ATUR F3A & forg siftrgpa farar?

1. Elizabeth I/ Tferaay I

2. Elizabeth II / Tfereiay I
3. Elizabeth 111 / Tferaiay 111
4, Elizabeth IV / Tfeeiay IV

Correct Answer :-

« Elizabeth I/ ufereey [
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40) Which among the financial institutions prescribed Liberalisation, Privatisation and

Globalisation model as part of stabilization and structural adjustment mechanism during
1991?/

1991 & SR 3 faxig G # § faa Serie R, fAsfie?ur siv asfiewor ufaw=
P RS 3R TTHS FHEASH oF F 7 $ =u # Huifva fearg?

1. International Monetary Fund and World Bank. / SF<RIST JaT ®19 iR fay d®

2. International Monetary Fund and Asian Development Bank. / Gl?lﬁ@'q Hal DY 3R U Ié
[CEIRCED

3. International Bank for Reconstruction and Development and World Trade Organisation. /

SARTPR GAHTN SR I I SIR fay IR W1ad

4, World Bank and Asian Infrastructure Investment Bank. / 3% §& iR TfRmmg LI
SIAwHE Sb

Correct Answer :-

+ International Monetary Fund and World Bank. / &Ir_vl?@q% By SR fay I

41) Which among the following skills is not essential for a social science teacher? /

Frafeafaa & Q $19 91 Pizra G &g & v Rige & e sifvard a8 82
1. Drawing, explaining, revising, reviewing / &W, YA pRI, ESRIE] BT, JHIET DT

2. Questioning, eye to eye contact with students, reciting / UH I, JE Y 3G BT dudh ERIGIN
qUH HAT

3. Precision, computation, measurement / l-{i\{%le&‘dl, IITOHET, AT

4, Voice modulation, eliciting responses, elaborating / 3Tl H\IJS?J\a <, gfaferam ure bl
TG HRAT

Correct Answer :-

« Precision, computation, measurement / L‘IIr\Q-‘{lqul, IO, /19

42) Which type of help and assistance is required for a student who is extraordinary brilliant

in the school? / faeITera § e SRATURYT UfaHTRITRN BT & foe frd yoR &) Jeraer iR
TN DI AT AT gl 82

1. Gifted classroom environment / UTTHTRITC HET BT Iﬂﬁﬁ
2. Providing him enriched environment / &5 HH dIdTaRUT UGl AT
3. Provision for special education / fa=Iy fRren &1 grau™

4, Providing additional assignments / 3ffaRad &1 UgM &l
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Correct Answer :-

« Gifted classroom environment / TfTHTRITSN HE&T BT Iﬂaﬁ

43) Which type of weathering agent/process is more active in a limestone area? /
5 PR &1 Sruer, HHE/MfHa Th A1 TRR &F | e afpa garg 2
1. Insolation / AU+

2. Vegetation / aFeufd

3. Frost / UR (3h1XC)

N o XN

4. Carbonation / BT CIERUT (HTEHRI)

Correct Answer :-

« Carbonation / BTEIHRIT @ﬂﬁ’i’ﬂ)

44) An example for formative evaluation is: / =R W DT 3alex0T %I
1. Monthly test / HTRIh TRI&T0T

2. Practical test / U URI&0T

3. Teacher made test / TRI&® GRT URT&0T

4, Rating scale / T THd

Correct Answer :-

« Monthly test / TR TRIEMTT

45) Where is the Ibadatkhana, the place built by Akbar for learned men from all religions
were called for discussion, situated? / 3PeR §RT S-RIT 7T UM “TaTGaQ 1", gl 4 sifaal &
fagr=i @ ==t & fore g Sirar o, $si 8?2

1. Fatehpur Sikri / BdgqR Rl
2. Lal Qila / <rd fabam
3. Sikandara Fort / RyéhaxT farat

4. Agra Fort / 3TRT &7 fdett

Correct Answer :-

« Fatehpur Sikri / BagqR Rt
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CANCELLED

Which COP (Conference of Parties) resulted in the formulation of the Paris Agreement? /
fa cop (mféal &1 awiae) ¥ ulommasg Ui Twsha &1 fHafor gam?

1. COP 18

2. COP 21

3. COP 15

4, COP 23

Correct Answer :-

« COP21

47) CANCELLED

The Minimum Support Price was introduced in India in the year i
T I g URa A ad U=y e T Aml

1. 1964

2. 1954

3.1974

4. 1984

Correct Answer :-

« 1964
48) CANCELLED

Who among the following is the proponent of ‘Pragmatism’? / REINIEECR: K “dgiRdlg”
1 TRATAD DI 82

1. B.F. Skinner / Tsﬂqcﬁ e

2. Albert Bandura / 3T g

3. Adam Smith / TSH a7y

4. Soren Kierkegaard / IRA BIbTS

Correct Answer :-

« Soren Kierkegaard / IR BIHTS

Page- 59



49) CANCELLED

Who is the main exponent of concentric approach in curriculum? / YTGUshH A gohfed

=¥ BT g UfuTe® B 82
1. Crowder / 18
2. Skinner / f&pR

3. Bandura / GG
4. Burner / EF'T?

Correct Answer :-

. Burner /SR

50) CANCELLED

Who took the initiative to convene the Asian Relations Conference in 1947? /

1947 § TRMATE Gy Fre @R Rz $1964) smiferd &1 &1 ugd faa a2
1. Yugoslavia / Tﬂﬁ’m

2. China / 99

3. India / HRd

4, Egypt / o

Correct Answer :-

» India/ HIRd

51) CANCELLED
Who created Indian National Army (INA)? / HRdII ST ST (3MSEAT) T fafor fosam famar ar?
1. Peshwa Bajirao / PEIEIE|SIRE]

2. Saiffuddin Kitchlew / HE A fhed

3. Madan Lal Dhingra / A&+ ¢I1d GIVR]
4. Netaji Subhash Chandra Bose / =IdlTail JHTY T CIR|

Correct Answer :-

+ Netaji Subhash Chandra Bose / EGIE] U I CI5]

52) Chitrasutra of Vishnudharmottara Purana documents the following cave paintings:

/ Tt gRTor & e & fRafafae ger el & smaw &
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1. Elephanta Cave / Tclithel T
2. Nasik Cave / A& TH1
3. Ajanta Cave / 3{SidTl T

4, Bhaja Cave / YSIT %1

Correct Answer :-
« Ajanta Cave / 3fSidl T

53) Which of the following is also known as Microlithic period? / fFafefad ¥ & fea
erguryToft ST & U H o S ST 82

1. Neolithic / aUTyTuT S Ted
2. Paleolithic / OO STet
3. Chalcolithic / d&gT

4, Mesolithic / H& qToTUl

Correct Answer :-

+ Mesolithic / 7 9970l

54) Who hoisted the national flag at Gowalia Tank Maidan in Mumbai during ‘Quit India
Movement’? / “HRd BIS! Gl & GRIE Hag P TaTierdl <& HgM # fbua AP &l Wgr 41?

1. Jawaharlal Nehru / STIT8R@Td A8
2. Aruna Asaf Ali/ 315U 3% 37cit
3. Mahatma Gandhi / AgTeT il

4, Sarojini Naidu / SRINF TR

Correct Answer :-
« Aruna Asaf Ali/ 3/30T W 37cit

55) Lines connecting places having the same barometric pressure is . HHE aﬂ'ﬁﬁm

TEId a1 RIFEI Sl AlgA e v@g gt g
1. Isoheight / T%dTS T (ISHBIRC)

2. Isohyet / THIN 3G (3MIHIT)

3. Isobar / THYR TG (ITZHER)

4, Isotherms / THATIXT (3MgHH)
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Correct Answer :-

« Isobar / THHR 3G (3MRFHER)

56) Which of the following mountain ranges forms the longest mountain chain in the world?
/ Frafefed & & o9 W uda g@ar 9y o1 9ad dof udd g@an g2

1. The Rockies of North America / 3R 3HR®T & dblol

2. The Andes of South America / GI&0T 3HNHT &b VIS

3. The Great Dividing Range of Australia / \’r@m D1 e [AUTSTH gdanTan

4. The Transantarctic Range / TR-3 cTohfedh TdaqTal

Correct Answer :-

« The Andes of South America / S&0T 3HRPBT H ﬁ'U?ﬁTrT

57) What is Chernozem? / IIoTH T %?

1. Lateritic soil / AeRTgC Hal
2. Red and yellow Soil / @Td 3R Ul JaT

3. Deltaic alluvial soil / Seel STaIG Hal

4. Black Soil / STl Fal

Correct Answer :-

« Black Soil / Tl HaT

58) The Jhamarkotra mines of Rajasthan are best known for which among the following
minerals? /

RIS B FRepIeT @1 ot Fafafed e # 9 feasd fog efte s stmar 82
1. Rock Phosphate / H BT

2. Lime Stone / AT YR

3. Zinc / ST

4, Mica / Y

Correct Answer :-

« Rock Phosphate / AP HrEhe
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59) The word “El Niiio” comes from which among the following languages? /

«ge - Treg ol § @ frg v A R @
1. French / Wd

2. Arabic / 3@l

3. Spanish / TR

4, Portuguese / W

Correct Answer :-

« Spanish / T

60) Vikramshila Gangetic Dolphin Sanctuary is located in which among the following states of
India? /

faspafRrer 7 STRp sraRva, wRa ¥ Fafifee & & fra wsa & fRa 32
1. Bihar / fd8R

2. West Bengal / T3 H ST

3. Assam / SH

4. Uttar Pradesh / IR USRI

Correct Answer :-

o Bihar/ ﬁET\T
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